UGC NET 2022 ECONOMICS

Topic:- 1_PART_A_Set1

1) If the income effect for a good is in the opposite divection as the substitution effect, but the
substitution effect dominates then the good 1s
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[Question ID = 416][Question Description = 101_01_Economics_0CT22_Q01]

1. Normal

HHEAE
[Option ID = 1661]
2. Inferior but not giffen
[Option ID = 1662]
3. Giffen

I

[Option ID = 1663]
4. None of the above

I9I H | S AR
[Option ID = 1664]

2) Two factors of production. 2av A and B have the same price. The least cost eombination of
Aand B for producing given level of output will be achieved at a point where the Iso-quant
has slope equal to
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[Question ID = 417][Question Description = 102_01_Economics_0CT22_Q02]
.0

[Option ID = 1665]
2. 4

[Option ID = 1666]
3.

[Option ID = 1667]
4., g

=

[Option ID = 1668]

3) Suppose a profit maximising monopolist is producing 800 untis of cutput and is charging a
price of Rs. 40 per umt. If the elasticity of demand for the product 15 —2. marginal cost of the
last unit produced 1s
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[Question ID = 418][Question Description = 103_01_Economics_0CT22_Q03]
1. 10

[Option ID = 1669]
2. —400

[Option ID = 1670]
3. =)

[Option ID = 1671]
4. 920

[Option ID = 1672]
4) Which of the followings is not a marginal eondition of pareto optimality eriteria?

Frateiga § § F-61 921 3209 Avesl 1 UF | 9 a6
[Question ID = 419][Question Description = 104_01_Economics_OCT22_Q04]
B

1. MRS{, =MRS], = =
).

[Option ID = 1673]
W

2. MRTS;]  =MRTS} ;. =—
: : >

[Option ID = 1674]
3. MRS}, =MRS;, = MRPT,

[Option ID = 1675]
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[Option ID = 1676]
5)  The strategy of choosing the policy which has the best possible outcome is known as

[Question ID = 420][Question Description = 105_01_Economics_0CT22_Q05]
1. Dominant strategy

[Option ID = 1677]
2. Maxi max

[Option ID = 1678]
3. Minimax

[Option ID = 1679]
4. Maxi min

At

[Option ID = 1680]



6) “Nenu Cost” 1= a concept used in

‘T Fr= TefeE O T T Ee A
[Question ID = 421][Question Description = 106_01_Economics_0OCT22_Q06]
1. Classical econiomics

[Option ID = 1681]
2. Neo-classieal economics

TA-FATHAE AL

[Option ID = 1682]
3. New Keynesian economics

TE-FHE B

[Option ID = 1683]
4. Kevneslan economics

[Option ID = 1684]

7)  Real and nominal income is calculated respectively at

[Question ID = 422][Question Description = 107_01_Economics_0CT22_Q07]
1. Current and constant prices
=] # fea Fma

[Option ID = 1685]
2. (Constant and current prices

[Option ID = 1686]
3. Constant and constant prices

[Option ID = 1687]
4. Current and current prices

[Option ID = 1688]
8)  What will be the aggregate Domestic Income NDP (FC) of the economy for 2022-23: 1f
GDP iMarket Price) = 27.654 Crores

Depreciation = 2847 crores
Indirect taxes less subsides = 2160 croves
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[Question ID = 423][Question Description = 108_01_Economics_0CT22_Q08]
1. 24,807

[Option ID = 1689]

2. 29647
[Option ID = 1690]
3. 2B.967

[Option ID = 1691]
4. 98467

[Option ID = 1692]

9) The Central bank policy of altering the domestic credit extended by it in an equal and
opposite direction to the variation in foreign exchange reserves so that the monetary base

remains unchanged 1s called
F5E 5% gUT UG Wi T H] (EgEil Hgl 9USH § UiEed & 0 gee s EeiE T 3 sned, e

[Question ID = 424][Question Description = 109_01_Economics_0OCT22_Q09]
1. Stabilization

[Option ID = 1693]
2. Nonetary expansion

[Option ID = 1694]
3. Fiscal expansion

[Option ID = 1695]
4. SBterilization

ST

[Option ID = 1696]
10)  The irrélevance of money for real variables in the classical system is called
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[Question ID = 425][Question Description = 110_01_Economics_0OCT22_Q10]
1. Fiscal neutrality

[Option ID = 1697]
2. Monetary neutrality



[Option ID = 1698]
3. Exchange rate neutrality

[Option ID = 1699]
4. Technalogical neutrality
3 Sy "'I\. 7
[Option ID = 1700]
11)  Hari's score in the statistics in the first vear is 76. whereas the class average is 68 with a
standard deviation of 5. What is Hari's Z-score?
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[Question ID = 426][Question Description = 111_01_Economics_0OCT22_Q11]
1. 1.5

[Option ID = 1701]
2. 164

[Option ID = 1702]
3. 1.2

[Option ID = 1703]
4 14

[Option ID = 1704]

12) A bag contains 20 tickets marked with numbers 1 to 20, One ticket is drawn at random. Find
the probability that will be multiple of 2 or 3.
wF 4w 0 1" 20 @ Ak TEaA aie 20 owe #| vE fowe anfew w0 9 e ) 3w g wE
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[Question ID = 427][Question Description = 112_01_Economics_0OCT22_Q12]

.07

[Option ID = 1705]
2. 09

[Option ID = 1706]
306

[Option ID = 1707]
4. 0.3

[Option ID = 1708]
13) A simultaneous eguation model 1= said to be over-identified if.

[Question ID = 428][Question Description = 113_01_Economics_0OCT22_Q13]
1. Unique numerical values of the struectural parameters can be obtained

[Option ID = 1709]
More than one numerical values can be obtained for some of the parameters of the

2. .
structural equations
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[Option ID = 1710]
3. Unigue solution of all the structural coefficient is not possible

A HEATEEE TOH F AGAE HHgH 6 A A

[Option ID = 1711]
4. Structural coefficient cannot be estimated

TEEHTEHF TF S T SR ) A A

[Option ID = 1712]

14) The fitted regression equation is given hv Y, =—10+0.6X. What is the value of the residual

at the point X =40. Y = 60.
ToTies W ST Y, =—10+0,6X. % =9 § fom w0 3| X =40, Y = 60 fag @ sEiE = 5
e ¢

[Question ID = 429][Question Description = 114_01_Economics_0CT22_Q14]

. 74

[Option ID = 1713]
2. 46

[Option ID = 1714]
3.0

[Option ID = 1715]
4. 45

[Option ID = 1716]

15) If the demand function is : P=35—2x—x" and the demand x, is 3. What will be the
conzumer’s surplus?
A T FE R P=35-2x—x" TF BF xy 7 3, T THARHT SAGFT T B
[Question ID = 430][Question Description = 115_01_Economics_0OCT22_Q15]
.27

[Option ID = 1717]
2. 25

[Option ID = 1718]

3. G0
[Option ID = 1719]
4. 90

[Option ID = 1720]

16) The total revenue (R) and total cost (C) function of a firm are given by R=30Q-@".
C=20+4Q. Where @ 1= output. find the equilibrium cutput of the firm

ol v % et T (F0) vd Fe e (H) o R=30Q-@°. C=20+4Q W& Q Fia &, w9 w4
F1 e Feger T it
[Question ID = 431][Question Description = 116_01_Economics_0OCT22_Q16]
1. 4
[Option ID = 1721]



2. 33

[Option ID = 1722]
3. 15

[Option ID = 1723]
4. 10

[Option ID = 1724]

17)
6 3 5

Find the rank of A =|-10 2
5 2 3

6 3 5

HE R FR T A, A=[-10 2 §
5 2 3

[Question ID = 432][Question Description = 117_01_Economics_0CT22_Q17]
1. 3

[Option ID = 1725]
2. @

[Option ID = 1726]

3. 1
[Option ID = 1727]
4. 0

[Option ID = 1728]

18) =

Integrate :
x+2

o

x+2

[Question ID = 433][Question Description = 118_01_Economics_0CT22_Q18]
74:{- g o o
(x+2F

[Option ID = 1729]

2. %-& 2x+4logle+2)+e

[Option ID = 1730]

=

3. %—2:\: +4loglx+2)+e

[Option ID = 1731]

X
4 ——3Ix+e
']

e

[Option ID = 1732]
19)  The “tequila effect” indicates :
R i = R o

[Question ID = 434][Question Description = 119_01_Economics_0OCT22_Q19]



. The spread of the 1994.95 Mexican crisis to other countries in Latin America

1994.95 H HiFw= a2 1 ciled A % 39 o7l § Herr

[Option ID = 1733]
2. The spread of the 1997 erisis in Thailand to other countries in Asia

Eeiz § 1097 % A2 = URET # 37" 91 4 e

[Option ID = 1734]
3. The suprime crisis emerged in 2007 in the United State

TEes =2 F 2007 1 I e TA-9157 The

[Option ID = 1735]
4. The domestic debt crisis ocourred in Argentina in 1989

1089 9 3= 9 P e T The
[Option ID = 1736]

20) In which stage of the product cycle model, the imitating country starts producing the product
for domestic consumption?

TeIE W Hi= I FA-H AT, FIFE S 91 597 Te] T950 F (o 35 F IS IF w5 s
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[Question ID = 435][Question Description = 120_01_Economics_0CT22_Q20]
1. Stage- IIT
e - 110

[Option ID = 1737]
2. Stage-II

e — 11
[Option ID = 1738]

3. SBtage-1

AT - 1
[Option ID = 1739]

4. Btage-V

HITH =V
[Option ID = 1740]

21) What does the result of the first empirical test of the Heckscher-Ohlin model by Wassily
Leontief find?

AT T TEF GO TR — T es Wiee % Uee SH9TS WA 1 GEey = ar e

[Question ID = 436][Question Description = 121_01_Economics_0OCT22_Q21]

1. TU.S. exports were less capital-intensive than U.S. imports

YUH. % (99 306, F AEE § FE g 0GE d

[Option ID = 1741]
2. 11.8. exports were more capital-intensive than U.S. imports

.U, & AT 309, F A 9 s gS-0ae g



[Option ID = 1742]
3. U.S. exports were more human capital-intensive than U.S. imports

JUH. F FAW .09, F AW 7 A9F F6 05 090 4

[Option ID = 1743]
4. All the above

.:qq:ﬁ s THl
[Option ID = 1744]

22) Inthe MMundell-Fleming maodel, under floating exchange rate, which policy is more effective to
influence aggregate income?

TEE - HizA ¥, g AT a9dE, 99 3 6 TaiEs e F . wE- Jie siew
FOW A7
[Question ID = 437][Question Description = 122_01_Economics_0CT22_Q22]
1. Fiseal poliey
o qr_tlﬁ
[Option ID = 1745]
2. Monetary policy

[Option ID = 1746]
3. Exchange rate policy

Taaa &7 HifA

[Option ID = 1747]
4. None of the above

e g e
[Option ID = 1748]

23) The provision for social goods. or the procezs by which tatal resource use iz divided between
private and soclal goods and by which the mix of social goods is choosen is known as

AW T F T, W AR WHA (HE T A I H A6 T A e 5
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[Question ID = 438][Question Description = 123_01_Economics_0OCT22_Q23]
1. Allocation function
T we
[Option ID = 1749]
2.  Distribution funétion

'“Iﬂdi T e

[Option ID = 1750]
3. Btahilization function

[Option ID = 1751]



4. Normalization funetion

[Option ID = 1752]

24) Primary deficit 1= given by

e e e D e e e e 2 e 2 L
[Question ID = 439][Question Description = 124_01_Economics_0CT22_Q24]
1. Fiscal deficit — Interest pavments

[Option ID = 1753]
2.  Revenue deficit — Interest pavment

[Option ID = 1754]
3. Budget deficit — Interest Payment

FHA==TF 9128 — =0 e

[Option ID = 1755]
4. Revenue Receipt — Revenue Expenditure

= W -~ T =

[Option ID = 1756]
25) When MPC = 0.75. a decrease in taxes Rs. 20 crore will increase GDP by

a MPC = 0.756 %, 7 1 7 200 15 90 % 92 7H § GDP (9% ww] 3075 | 1 giG 7 7

[Question ID = 440][Question Description = 125_01_Economics_0OCT22_Q25]

1. Rs. 200 croves

200 IS

[Option ID = 1757]
2. Raz. 100 crores

100 F3

[Option ID = 1758]
3. Ra. B00 crores

600 =TS

[Option ID = 1759]
4. Rs. 800 eroves

800 At

[Option ID = 1760]

26) ‘Which of the following strategy is not correct in order to have expansionary impact of fiseal
policy?
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[Question ID = 441][Question Description = 126_01_Economics_0CT22_Q26]
1. Pubhec expenditure must be financed by borrowings

[Option ID = 1761]
2. Puhle expenditure must be financed through increased taxes only

[Option ID = 1762]
3. Compensatory spending for public investment

[Option ID = 1763]
4. Cutin taxes

=4 H F2AT

[Option ID = 1764]
27) In the context of the transaction demand for money, the square root rule was developed by

w1 5 fafer i 35 ah e o et Foefir e ?
[Question ID = 442][Question Description = 127_01_Economics_0CT22_Q27]
1. Kydland - Prescott
FF. - 5 :_:‘ ; i x
[Option ID = 1765]
2. Friedman - Scwartz
Fre-=Ee
[Option ID = 1766]
3. Boumol - Tobin
AT T 2T
[Option ID = 1767]
4. J. M. Keynes
S, T
[Option ID = 1768]

28)  If time deposit is not included. then the money nmultiplier will be (Cr = currency deposit ratio.
1T = reserve deposit ratio)

A7 HEEE A A A oS, 1 gm e Een ( Cr = §E 9 SEE, e = SRiEd S
I )
[Question ID = 443][Question Description = 128_01_Economics_0OCT22_Q28]
. (Cr+rr)ii+Cr)
[Option ID = 1769]
2. (Crerr)rr+1)
[Option ID = 1770]
3. Crfrr

[Option ID = 1771]



4 (Cr+1)/(rr+Cr)

[Option ID = 1772]
29)  One of the varicus gualitative instruments used by the central hank during inflation is
T 0 | Tl U ST 8 " U A Fai 5 Gu-Fhid % SR 390 HE F 9 R
[Question ID = 444][Question Description = 129_01_Economics_0CT22_Q29]
1. Ralse margin requirement
T AT F "
[Option ID = 1773]
2.  Remove margin requirement
Tam SETEEa ® weE

[Option ID = 1774]
3. Reduce margin requirement

THET AETEEAl F SEE]

[Option ID = 1775]
4. Fix margin requirement

r ~ -
EHHT SHTI=RAT =0l Thd ]

[Option ID = 1776]

30) The hypothesis of cumulative causation as an explanation of the backwardness of developing
nations is associated with

r T T e T o S = - ~ ot A . o o S s T 3
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[Question ID = 445][Question Description = 130_01_Economics_0CT22_Q30]
1. Ragnar Nurkse

[Option ID = 1777]
2. Gunnar Myrdal

[Option ID = 1778]
3. Arthus Lewis

[Option ID = 1779]
4. Fet and Ranis

F1 w7 T

[Option ID = 1780]

31)  Match Labour Foree with the appropriate 1tem from among the following :

e 0 o 39 95 % 910 89 9 & 10eH &

[Question ID = 446][Question Description = 131_01_Economics_0CT22_Q31]
1. Tatal work force



e TS
[Option ID = 1781]
2. Employed + unemployed
TSATR = Wi + STsATT
[Option ID = 1782]
3. Total educated manpower
T TAE A
[Option ID = 1783]
4. Population in the age group 15 - 60
15-60 =g & =1 s=EE
[Option ID = 1784]
32) In Harrod Domar Model, if the growth rate of income is 8% and the eéapital output ratio is 4%
then the saving rate must be
Hz—2r Hizel °, Az 794 F1 205 T 8% & S GoA-SeqEA I 4% 7, A1 s=w H @ wpi
[Question ID = 447][Question Description = 132_01_Economics_0CT22_Q32]
- 32%

[Option ID = 1785]
2. 9%

[Option ID = 1786]

3. 36%

[Option ID = 1787]
4. 1/2%

[Option ID = 1788]

33) Net migration refers to

[Question ID = 448][Question Description = 133_01_Economics_0CT22_Q33]

1. Overall level of population chanze resulting from total mizrants and emisrants
el TANET] AL SEAalEdl & GioTeEE SIS Ead F AEy w6

[Option ID = 1789]
is the difference between the number of immigrant workers and the number of

2. i
emigrant workers

ATTETH FETET I H A SO S O+ §ie

[Option ID = 1790]
3. Does not include refusees and other lawful misrants

=HE Il ST Fe EaEeE T e 99 B

[Option ID = 1791]
4. mecludes refugees only.

THA e Tl i w2 2

[Option ID = 1792]



34)  The change in welfare due to change in environmental quality is measured by

TET ] AT § UiEnA % A FEAw § 9iEa S T geT T e
[Question ID = 449][Question Description = 134_01_Economics_0CT22_Q34]
1. Hedonic price function

[Option ID = 1793]
2. Margimal impliecit funection

Hig= #HAAED B

[Option ID = 1794]
3. Marginal Willingness to Pav (WTP) function

= P 3= (S=gEd]) FeA

[Option ID = 1795]
4. (Qffer function

T (19 ) T

[Option ID = 1796]
35) A stationary population is that when population growth is

[Question ID = 450][Question Description = 135_01_Economics_0OCT22_Q35]
1. ‘increasing at an Increasing rate

[Option ID = 1797]
2. ineregsing at a decreasing rate

[Option ID = 1798]
3. Grows at zero rate

b Rt L o
[Option ID = 1799]
4. 100%
100%

[Option ID = 1800]

36) -PM Gatishakti' is driven by engines.

[Question ID = 451][Question Description = 136_01_Economics_0OCT22_Q36]
1. Four
=

[Option ID = 1801]



2. Five

=

[Option ID = 1802]
3. six

TR

[Option ID = 1803]
4. Seven

Hid

[Option ID = 1804]

37) Growth in total consumption in India in 2021 — 22 1s hikely to be
wrE B 2021-22 8 wer 398 4 Jig e wA i w2

[Question ID = 452][Question Description = 137_01_Economics_0CT22_Q37]
1. 5.0 Percent

5.0 wigTa

[Option ID = 1805]
2. .0 Percent

6.0 wiaara

[Option ID = 1806]
3. 7.0 Percent

7.0 wivwa

[Option ID = 1807]
4. 8.0 Percent

8.0 yfawE

[Option ID = 1808]
38) What has been the reason for recent dip in vehicle registration in the country?

%9 ¥ A T H A HOATE (TETEE w1 Hey o T 2 7
[Question ID = 453][Question Description = 138_01_Economics_0CT22_Q38]
1. Shortage of semi-conductor chips
[Option ID = 1809]
2. Poor credit supply by the banking sector
SiTHT & ST Sl S EH AT

[Option ID = 1810]
3. Sharp rize in vehicle prices

AT 1 | oA I

[Option ID = 1811]
4. Reduced demand for vehicles



AT =T | § FH
[Option ID = 1812]

39)  In which year, Gross Domestic saving rate was the highest?

FH-H 70 0, T S 594 57 s 47
[Question ID = 454][Question Description = 139_01_Economics_0CT22_Q39]
1. 2004-05

[Option ID = 1813]
2. 2007-08

[Option ID = 1814]
3. 92011-12

[Option ID = 1815]
4. 201617

[Option ID = 1816]

40)  Which of the following modern Indian Economic thinker had not gone abroad for study or
work?
e=Aieliga | | FA-31 A ARAE -3 AT FE 91 A e e [=5a A
[Question ID = 455][Question Description = 140_01_Economics_0OCT22_Q40]
1. Mahatma Gandm
HETEE i

[Option ID = 1817]
2. Ram Manochar Lohia

1H T a5 E-.I fr’:l
[Option ID = 1818]
3. B.R. Ambedkar
[Option ID = 1819]
4. Deen Dayal Upadhvava

[Option ID = 1820]



41)  Which of the following conditions are satisfied for a rationale firm to achieve its equilibrium
by maximising Q= f(L.K) subject to C=wL +1k .
20
arL . w
(A) —=—
0
cK
(B) o0 >0, c9 =0

. P

ar aK=

42 2
(C) og{ﬂaj:daQ>D
3 K>

oL

@ 22 0ma 8
ar K>

 (22)22).(22]
o’ \ex® )"\ arek

Choose the correct answer from the options given below

TRET T FHGTH B G Heed W A F T e 8 | e wa) @ g e s = s Q= f(L.K)
ATIFTHR = T B A T C=wl +rK 7

o
(?L W
Ay E==—
' o9 r
K
® 92.0%,9
art K*
8% &
(©) H?(Uand %’-m
ar’ )
3 2
o 22c0amaf€<o
ar’ 6K
3 2 3 2
o ()22
or’ )\ ek’ LK
319 T2 v faFal O O T = #1939 e

[Question ID = 456][Question Description = 141_01_Economics_0CT22_Q41]
1. (A), (B) and (E) only
F=e (A), (B) 31 (E)

[Option ID = 1821]
2. (&), (D) and (E) only

Fa+ (A), (D) 37 (E)

[Option ID = 1822]
3. {A) and (E) only

FaE (A) =7 (E)

[Option ID = 1823]
4. (A) and (B) only

w0 (A) 31 (B)

[Option ID = 1824]



42)

Which of the following are correct with respect to IS-LM model?

{A)
(B)
(C)
(D)

(E)

The LM schedule slopez upward to the right.
The LM schedule will shiff to the left with an Increase in quantity of money
The LM schedule gives equilibrium in the monev market

The IS schedule will shift to the left when these 1s an inerease in government
expenditure

The IS schedule will shift to the right when taxes are reduced

Choose the most appropriate answer from the options given below :

IS LM % o=t 4 T4 § o - o foereg ol 27

{A)
(B)
(C)

(E)

LM =g+ 551 i 7 § 3ig F =g aef /v g3

LM =351 551 #190 § T 95 AT 7

IS SR 9 TR =91 § gig 'l § 79 9w 5 gadl 8
i U A Helfd i A 2 a8 1S SIgEl Sl a0 gIAl 7

#ma oo famwe © 9 =91 IR W 9EE Fe

[Question ID = 457][Question Description = 142_01_Economics_0CT22_Q42]
1. (A), (C), (E) only

Fa+ (A). (). (E)

[Option ID = 1825]
2. (A). (B).(C). (D) only

Fa (A). (B). (©). (D)

[Option ID = 1826]
3. (A), (C) only

Fa (A). (C)

[Option ID = 1827]
4. (B). (D). (C), (E) only

#5e (B), (D). (C). (B)

[Option ID = 1828]

43)

Monetary policy instruments are

()
(B)
(C)
(D)
{E)

Changes 1n public expenditure
Changes in taxation

Open market operations

Bank reserve regquirement

Interest rate policy

(Choose the most appropriate answer firom the options given below :



(A) T e O g
(B) 1§ g

(C)  TEE-ETAR FEEETT
(D) SF ARIET AETIHAT
(E) & o i

= fan T fawea § 0 5E T F =599 FE
[Question ID = 458][Question Description = 143_01_Economics_0OCT22_Q43]
1. (A). (B) only
Fa (A). (B)

[Option ID = 1829]
2. (A), (B). (C) only

F95 (A). (B). (C)
[Option ID = 1830]

3. (C). (D), (E) only

=== (C). (D). (E)
[Option ID = 1831]

4. (B). (D). (E) only

F= (B). (D). (E)

[Option ID = 1832]

44)  Taols of expanszionary Fiscal poliey include

{A)  Raising Government expenditure
(B) Reducing Government expenditure
(C)  Increasing tax rate

(D)  Reducing tax rate

(E) Increasing money supply

Choose the correct answer from the options given below :

(AR TSR A(Ta = S -
(A)  TTEE EE FEEE

(B)  =THEHE @2 F EIEI

(€) =T W

(D) T E "I

(E)  Hz1 3MI[ #1 "ee

4 Teu 7o Tawedl 8 O HE 39 1 =999 e

[Question ID = 459][Question Description = 144_01_Economics_0OCT22_Q44]
1. (A). (D) only

Fa (A). (D)



2.

3.

4.

[Option ID = 1833]
(B). (C) only

a9 (B). (C)

[Option ID = 1834]
(A), (D). (E) only

a4 (A). (D). (E)

Fae

[Option ID = 1835]
(B), (C). (E) only

F=+ (B), (C), (E)

[Option ID = 1836]

45)

Basic characteristics of an under developed economy

(A) A lIow level of technology and poor human capital

(B) Higher level of GDP and percapita incomne

(C) A high proporticn of the labour force engaged in agriculture and low agriculture
productivity

(D) A high proportion of domestic expenditure on food

(E) Higher incidence of poverty

Choose the most appropriate answer fi'om the options given below @

Tt 3779 Tariag wed=gaey & oifes =aw 2

(A)
(B)
()
(D)
(E)

. i
T T T W HFN T 7 F 3§ 5o w
WE-TEE T T e a3

4= 20 U @FeT] § | HEl 39 999 e

[Question ID = 460][Question Description = 145_01_Economics_OCT22_Q45]
(A), (C), (D), (E)only

1.

2.

3.

4.

Fa7 (A). (C), (D), (E)

[Option ID = 1837]
(A, (C), (B). (E) only

Fae (A, (T), (Bl (E)

[Option ID = 1838]
(B). (D). (E) only

F== (B), (D), (E)

[Option ID = 1839]
(B) only

Fa+ (B)

[Option ID = 1840]



46)

Which of the following hold good for Lewis model of development?

(A
(B)

()
(D)
(E)

Unlimited supply of labour

Marginal productivity of labour in the subsistence sector is equal to. or less than.
subsistence wage

Dual economy with a modern sector and a subsistence sector
Apgricultural sector subject to increasing returns

Model that explains the erucial role of capitalist surplus in the development process

Choose the more appropriate answer from the options given below :

AN FEEFTO TR F o i i o Fe-sR e T

(4)
(B)
(C)
(D)
(E)

AT & E U i EE Il Hia a4 39E 6 FEl B
Sl va EfEd A F Ay SAEn) e

T & AT T S % e T
o 1wl Ol st SR e T A

ST IR AL C o e | R s e ot e B B e |

[Question ID = 461][Question Description = 146_01_Economics_OCT22_Q46]
1. (AL (B). (C). (E) only

*a= (A). (B). (C). (E)

[Option ID = 1841]
2. {A), (B). (D), (E) only

75 (A), (B), (D). (E)

[Option ID = 1842]
3 (B), (C), (D), (E) only

Fa7 (B). (C). (D). (E)

[Option ID = 1843]
4. (A} (O). (D). (E) only

Fa (A), (C), (D). (B)

[Option ID = 1844]

47)

Which of the following is correct?

(A)
(B)

(C)
(D)

(E)

The grozs barter terms of trade uses gquantity mdex for imports and exports

Both grosz barter terms of trade and net barter terms of trade make use of the price
index for imports and exports

The net barter terms of trade uses price index for imports and export

Both groszs barter terms of trade and net barter terms of trade make use of the

quantity index for imports and exports

The gross barter terms of trade uses price index but the net barter terms of trade uses

guantity index for imports and exports

Choose the correct answer from the options given below :



ST S e e T,

(A)
(B)

()
(D)

(E)

= oo o o B O = = o= A

[Question ID = 462][Question Description = 147_01_Economics_0OCT22_Q47]
1. (A and (B) only

Fa= (A) e (B)

[Option ID = 1845]
2. (Biand (C) only

Fa (B) 37 (C)

[Option ID = 1846]
3. {C) and (E) only

Fa= (C) 37 (E)

[Option ID = 1847]
4. (A) and (C)only

FaE (A) H(C)

[Option ID = 1848]

48)

Which of the following are correct?

{A)
(B)
(C)
(D)
(& D]

Current account includes merchandise export
Current account do not include merchandise export
Current account includes invisible export

Current account do net includes mvisible export

Current account includes both merchandise exports and imports and invisible exports
and imports

Choose the correct answer from the options given below :

e @ e e 3

(A)
(B)
(©)
(D)
(E)

=TT+ WIH H AIT=a 9 Ao 26 5

=17} T H FI0Ta = A Ta w6 2

T T 375 WA o 2 e

el @ W AT a1 A A6 e At wid A a9l 9579 AW A i o

E e I T e L = Lo Ve = = 3 e L 1 e 0



[Question ID = 463][Question Description = 148_01_Economics_OCT22_Q48]
1. (A), (B) and (C) only

Fa4 (A), (B) #iX (C)

[Option ID = 1849]
2. (A). (C) and (E) only

F4E (A). (C) #R (E)

[Option ID = 1850]
3 (A), (D) and (E) only

Fa7 (A), (D) 3R (E)

[Option ID = 1851]
4. (C) (D) and (E) onlv

#a= (C). (D) J(E)

[Option ID = 1852]

49)  Which of the followings are correct?

() M,=C+DD+0D

(B) M., = M, + saving deposits with post office =aving banks
(C) M, = M. + net time deposits of banks

(D) M, = M, + net time depozits of banks

(E) M, =M,+ total deposits with the post office savings

Choose the correct answer from the options given below :
e e e R = B - o -
(A) M,=C+DD+0D
(B) M, = M,~+ ST g S § a0 @i 7 5w
(C) M, =M+ 1 = =ifes 79
(D) M, =M, +%% 5 e ifes 59

(E) M, =M, +3Srk W & 590 @ 8 Fe 997

SR A L & 2 e e e o e e 0 - e 01 LA

[Question ID = 464][Question Description = 149_01_Economics_0OCT22_Q49]
1. (A). (B) and (C) only

A (A). (B) 31 (O)

[Option ID = 1853]
2. (A, (B) and (D) only

Fae (A). (B) 31 (D)

[Option ID = 1854]
3. {A), (C) and (D) only

#a9 (A), (O #i (D)

[Option ID = 1855]



4. (B). (D) and (E) onlv

#= (B). (D) ST (E)

[Option ID = 1856]

50)  Which of the following properties of matrix are correct?

3

A) (4)=A4

(B) The rank of an nxn nonsmgular manis A must be less than n
(©) (AB) =BA'

D) (A+Bf=A"+F"

® (a7'=(a")

Choose the correct answer from the options given below :

=1 5 4 o= (W) FEmd A R TS HE AT

’

(A) (A=A

(B) UF nxnp FHGEV GEI A, n T %9 24 =000
(©) (AB) =BA'

(I (A+Bff =A"+B"

® (at=(a?)

@ foo e faweat 9§ 1 =9 39 1 999 Fiew

[Question ID = 465][Question Description = 150_01_Economics_0OCT22_Q50]
1. (A). (B) and (C) only

Fa= (A). (B) 3 (C)

[Option ID = 1857]
2. (A), (D) and (E)only

Fae (A), (D) 3R (E)

[Option ID = 1858]
3. {A), (C) and (D) only

= (A), (C) 3 (D)

[Option ID = 1859]
4. (C). (D) and (E) only

Fa= (C). (D) #tt (E)

[Option ID = 1860]



51)

Which of the followings are correct?

(A)
B)
(C)

(D
{E)

The market 1= a system that works with price mechanizm
Market failure refers to the divergence of market equilibrium from pareto optamality

Market fails to efficiently supply public goods and the same makes a case for govt
intervention

Market efficiently works in the presence of positive externalities

Market efficiently works in the presence of negative externatlities

Choose the correct answer from the options given below :

e 5 | i wE R Y

(A)
(B)
(8]
(D)
(E)

AT HFWTHF AE FFH H1 Sq54G 5§ o8 5% 3 F19 774 &

CIE e R o ni e e e e ezt B e i e o o e e

AW FgA T 54 T A W AT 7T A TEE AT F T e AE e I5dl 7

TN AHAEAF ST FE i ITAE H 5H i § 1 el w

9= fer 0 o 5 @ 58 =0 1 =9 e

[Question ID = 466][Question Description = 151_01_Economics_0CT22_Q51]
- (A), (B). (C) and (D) only

F49 (A). (B (C) 3t (D)

[Option ID = 1861]
2. (A), (B) and (C) only

F=E (A), (B) 3 (C)

[Option ID = 1862]
3. (C). (D) and (E) only

Fae (C). (D) 317 (E)

[Option ID = 1863]
4. (B) and (E)only

Fa= (B) 3 (E)

[Option ID = 1864]

52)

Which of the followings are assumptions of ordinal utility analysis?

(A
(B
(C
(D

) Consumers are consistent in their preferences
) Consumer can measure the total utility received from any given baszket of goods
) Consumer preferences follow transiivity

) Consumers are non-satiated with respect to goods they confront

(E) Consumers are irrational

Choose the correct answer from the options given below :



1 5 | gEEEE ST Ao % B 3 R EH S JE A7

(A)  STHRE 394 WA B TF G 5 2

(B) 39T T I o aim e ot 7 FoAgE A w2
(C) ST TR HEEE ST A A

(D) IYHT A W =1 FEge 3 9A A6 A

(E) 394 fod#am 7 2

= o o TasEeal § F E 39 H 999 FIE
[Question ID = 467][Question Description = 152_01_Economics_0CT22_Q52]
. (B Q). (D) only
et (B, (C) #it (D)

[Option ID = 1865]
2. (C), (D). (E) only

a1 (C). (D) 3R (E)
[Option ID = 1866]
3. (A). (C). (D) only
FE (A). (€) 317 (D)
[Option ID = 1867]
4. (A), (B). (C) only
Fa9 (A). (B 31 (C)

[Option ID = 1868]

53) The binomial distribution can be used under the following conditions

(A) n the number of trials 1z finite and independent
(B n. the number of trials is infinite and independent

(C) Each trial results in two mutually exclusive and exhaustive outcomes, terms as
success and failure

(D)  P.the probabiity of sucecess is constant for each trial

(E) The probability of failure does not remain =ame for each trial
Choose the correct answer from the options given below :
fgue e ffetas et + wmvia wam =1 @ar 2
(A) i e n, dibg v =g w2 R
(B) & 1 T n. 3 vE = 2 B
(C) T UF EFE F U § GeA W G o e T v Faem e F w9 A
(D) @%erar 1 Bargar P, WA e a9 Hod =l 2

(E)  HESSA 1 SUT=AT TolE WA 7 @EE A5 26 5

Frg o o ToweTt B o w9 3 R = Fiw

[Question ID = 468][Question Description = 153_01_Economics_0OCT22_Q53]
1. (A), (C) and (E) only



A= (A). (C) 311 (E)

[Option ID = 1869]
2. (B), (C) and (D) only

Fa4 (B). (C) 31t (D)

[Option ID = 1870]
3. (A).(0) and (D) only

w7 (A), (C) (D)

[Option ID = 1871]
4. (B), (C) and (E) only

#a= (B). () # (E)

[Option ID = 1872]

54)  Which of the followings are correct in case of normal distribution?

(A @ +@:=2Md

1
(B) Q.D.Z:G_

(©) OD=Z¢

(D) All moments of odd order about mean are zero

(E) Q@ +6: =Md
Choose the correct answer from the options given helow :
A A A § T A H wEwE  wE R e
(A) @ +6s =20Md
1

(B) Q.D. = Y o

2
() Q.D.=§O‘

(D) =R AE A {99 F9 F A, = E
(E) @+ =M

419 foo 7 fowe © 9 971 I T 9a Fiew
[Question ID = 469][Question Description = 154_01_Economics_OCT22_Q54]
1. (B). (D) and (E) only
*Fa= (B). (D). (E)

[Option ID = 1873]
2. (A, (B) and (D) only

F77 (A), (B). (D)

[Option ID = 1874]
3. (A), (C) and (D) only

4w (A). (0). (D)

[Option ID = 1875]



4. (). (D) and (E) only

Fae (C), (D). (E)

[Option ID = 1876]

55)

What are the primary goals of sustainability?

(A)
(B)
(€
(D)
(E)

The end of poverty and hunger

Better standard of education and healtheare
To achieve gender eguality

Sustainable economic growth

To achieve both inter and intra generational equity

Choo=e the most appropriate answer firom the options given below :

(A
(B)
(C)
(D)
(E)

o 9 Tateear F 9= =0

4 Tau e famedl B 1 w5E 3w =E A

[Question ID = 470][Question Description = 155_01_Economics_0CT22_Q55]
1. (A). (B), (C) and (E) only

w45 (A). (B). (C) #1 (E)

[Option ID = 1877]
2. (A), (C), (D) and (E) enly

#Fa (A). (C). (D) #T (E)

[Option ID = 1878]
3. (A), (B). (C) and (D) only

F37 (A). (B). (C) 311 (D)

[Option ID = 1879]
4. (A). (B). (C). (D) and (E) only

g (A). (B). (C). (D) #RK (E)

[Option ID = 1880]



56)

What are the practical consequences of multicollinearity in CLEM?

(A)
(B)
(C)
(D)
(E)

R?, the overall measure of grodness of fit can be very high
OLS estimators arenaot BLUE

OLS estimators have small variance and covariances

t ratio of one or more coefficients 1s statisticallv insignificant

The OLS estimators and their standard errors can be sensitive to small changes in the
data

Choose the correct answer from the options given below :

Hi vE AW TR §, 5o FAANE F SAaEii 9y a1 B 2 7

(A)
(B)
(Cy
(D)
(E)

31 v v weFed BLUE 97 7 2

T I A HTGE T A1 ST A B A SR A ©
AT U UH WiHEeh AW I A 291 AHs 9 e YHadEl & 9ia Saneie w gl

H= Tou o Tamear § | SR 39 = i

[Question ID = 471][Question Description = 156_01_Economics_0OCT22_Q56]
1. (A). (B) and (C) only

w45 (A), (B) 331 (C)

[Option ID = 1881]
2. {A). (B)and (D) only

Fa (A), (B) 31T (D)

[Option ID = 1882]
3. (A). (D) and (E) only

a9 (A). (D) 3T(E)

[Option ID = 1883]
4. (B). (C) and (E) enlv

F== (B). (C) 3R (E)

[Option ID = 1884]

57)

With reference to the views of classicals on public debt. which of the followings are correct :

(&)
(B)
(C)

(D)

(E)

future financing gets more trouble some due to public debt
public debt leads to a reduction of rezources for productive private employment

mereasing public debt leads to emrreney depreciation and deflationary situations in
the economy

Debt finanecing requires funds for interest payment and amortization. hence a double
burden for exchequer

Public debt leads to productive activities

Chaose the most appropriate answer from the options given below !



AT 01 F TR B TS A # o2y 1, foteates § 3 Fe-se O o i
(A)y  FEATE T BEO 9TE] @ E50 AT S 7 A

(B)  TEHME WO % WO IR0 (AT TSR % T SETEAT 9 HRiE] wel E

(C) =EAMF =0 4 gig | 951 F1 goaaa A1 gde=en § saeiie 1 Rl & = e E

(D) o famame % fo0 =40 A 50 AEA A FieAl S aEeadl wil & Saie A 9 g

(E) \EIHF 79 ¥ 39%F FHFE 2 8

4= fou 7o o 5 9 55 3 = =9 e

[Question ID = 472][Question Description = 157_01_Economics_0OCT22_Q57]
T (A). (E) and (B) only

a9 (A). (E). (B)

[Option ID = 1885]
2. (C). (D) and (E) only

Fa= (C). (D). (E)

[Option ID = 1886]
3. (E). (D) and (A) only

#a= (E). (D). (A)

[Option ID = 1887]
4. (A), (B) and (D) only

a4 (A). (B). (D)

[Option ID = 1888]

58)  If we have objective function invelving a variables :

U=#X,.X;.X;.....X, ) subject to @{X;.X;.X;.....X,)=0. The second order condition for
extremum to be

(A) For maximum ‘Ez] < O.|E3| <0....

(B)  For maximum |H;|> 0.H;|<0....
(C)  For maximum [H,| < 0.[H,[>0....
(D)  For minimum |§2 <0|H,|<0....
(E)  For minimum |[H,| > 0H;| > 0...

Choose the correct answer from the options given below :



I AW TW n oS0 K WEA w99 S59g wHE r U=f(X. XX, X,) F @de
HX, X, . X,....X,)=0 veedimm #q fgdm wa foufa wvft

(A)  #AlgwE F o ‘Ez

(B) sl % fom [H,

<0.|Ea‘ <0....

=0,

Ea‘ =0,...

(C)  @fgFas =+ = ‘L_Ig

< 0.|.§3| > 0....
(D) = o [ H| < ﬂ.‘ﬁa‘ﬁﬂ....

() = % fom, |H,

>0./Hy|> 0...

319 Tou T fameal B 9 G 39 F =9 a0

[Question ID = 473][Question Description = 158_01_Economics_0OCT22_Q58]
1. (A)and (D) only

Faet (A) 31 (D)

[Option ID = 1889]
2. (B)and (D) only

Fa+ (B) 311 (D)

[Option ID = 1890]
3. (C) and (E) only

Fae (C) 4 (E)
[Option ID = 1891]
4. (B) and (E) only
== (B) w1 (E)
[Option ID = 1892]
59) Which of the followings conditions prevail in the long run equilibrium of industry for
achieving optimal resource allocation

(A) The cutput 1= produced at the minimum feasible cost

(B) consumer pays the minimun possible price which just covers the marginal cost of the
product

(C) Plants are used at full capacity in long run
(D) Firmis earn supernormal profits

(E) Perfect competitive firms and price mechanism operates
Chaose the correct answer from the options given below :
T F HATH A SAad0T EAN SETS e T T w5 FE = A = wwe e v
(A) =FTH =EEE @ T 9 6 S0 B R
(B)  S9HTH R HNTEd Ge w1 YA FAl 2 THEE Seas 6l HHE @vE 9 e
(C) = o= F1 g @ # I3E Ae 2
(D)  wiv=F =1 "= 3 950 e o = 2

(B) =70 Wieagieas Toer H{i 5od T 59 HEE A 1

3 fou T oA § 1 wE T w1 =9 A



[Question ID = 474][Question Description = 159_01_Economics_0OCT22_Q59]
(A). (B). (€) and (E) enly

1.

2.

3.

4.

FaE (A). (B, (C) #F (E)

[Option ID = 1893]
(C), (D) and (E) only

#a= (C). (D) 31 (E)

[Option ID = 1894]
(B). (D) and (E) only

Fa (B). (D) 31 (E)

[Option ID = 1895]
(A). (B) and (E) only

== (A). (B) 5 (E)

[Option ID = 1896]

60)

In relation to considerations of demographic dividend there appears to be “demographic
dualizsm” exhibited by the Indian states. In this regard consider the following factors

(A) Total fertility rate
(B) Sex ratio
(C) Percapita mcome

(I Urbanisation rate

Choose the correct answer from the options given below :

FAAETHE AT F G 0 SEANEhE Goan S50 JIEH ST 2 A0 SWAE 0 5 gieiEd 2 2|
o T § T R W N wE e =

(A)
(B)
(0
(D)

T T T
-2
ITEH F T

4= 20 wu @weal § | =Rl 39 1 999 Fiew

[Question ID = 475][Question Description = 160_01_Economics_0OCT22_Q60]
Both (A) and (B)

1.

2.

3.

4.

F= (A) 377 (B)

[Option ID = 1897]
Only (A)

FA5 (A)

[Option ID = 1898]
Only (B) and (C)

et (B) #= (O)

[Option ID = 1899]
Only (A) (B)and (D)



#a (A), (B) 5 (D)

[Option ID = 1900]

61)  Here is given sex ratio for different states of India for 2011

(A) Gujarat ; 942

(B) Madhya pradesh : 931
() Odizha : 979

(D) Tamil Nadu : 996

E) Haryana : 862

Choose the correct answer from the options given below :
Gre F faim =1 % 59 2011 1 E-Fg9n FeEd 2| T A w9 e 11
(A) T ;942
(B) wwwEw ; 931
(Q) === : 979
(D) s 096

(E)  #rFmm : 862

1= Ton e fawedl § /9 I =94 A G
[Question ID = 476][Question Description = 161_01_Economics_0OCT22_Q61]
1. (B).(C) and (D) only

== (B). () 57 (D)

[Option ID = 1901]

2. (A) and (B) only
=T (A) 377 (B)
[Option ID = 1902]
3. (C)and (D) only
Fa (C) 4 (D)
[Option ID = 1903]
4. (C). (D) and (E) only
e (C). (D) 39 (E)

[Option ID = 1904]

62) Here is given weights of items under use based classification of industrial production index of
India (Base 2011-12)
(A) Primary goals 34.05%
(B) Capital goods 12.22%
(C) Intermediate goods 17.22%
(D) Infrastructure/Construction goods 12.34%

(E) Consumer goods 24,17%

Choose the correct answer from the options given below :



=H|
(A
(B)
(C)
(D)
(E)

maHE T 34.05%

JATE v 12.22%
e T 17.22%

HreTT [ EETEET T 12.34%

I IET 24.17%

419 fou 7o o B § 9E I w994 e

[Question ID = 477][Question Description = 162_01_Economics_0OCT22_Q62]
1. (B).(C) and (D) only

4w (B). (C) 57 (D)

[Option ID = 1905]
2. (A). (B) and (E) only

Fas (A). (B) it (E)

[Option ID = 1906]
3. (A). (C) and (D) only

F3 (A). (C) =7 (D)

[Option ID = 1907]
4. (B). (D) and (E) only

Fae (B). (D) #F (E)

[Option ID = 1908]

63)

Which of the followings were the part of FDI policy reforms and other measures during the
Covid-19 pandemic period?

(A
(B)

(C)
D)

(E}

100 per eent FDI in the health sector

Permitting foreign investment upto 100 percent under automatic route m Telecom
services sector

"FDI monitoring cell” has been formed to expedite FDI propozals

Raised the FDI limit from 49 per cent fo 74 per cent in Insurance companies under the
automatic route

Reduced the limit of FDI in the defence zector to realize the vision of Atmanirbhar
Bharat

Chooze the correct answer from the options given helow :

ifers- 10 1 FEwTA % A e T fafe i g s s e o e e o
Tafrem 4 # 100 wfem werw Tt e

TTHEE HA % 49§ wEies =w0d | 100 iEvE e el e w g e

(A)
(B)
(C)
(D)
(E)

T et A e TR o T St EET e AR o

AT A § e S0 H UeIe fageil mEe 1 499 74 TiaeE oF e

AFHEAHT 9T F =S F OEEd 7Y 6 @9 1w faeen @t i A wm e

M o L o e e = 4 e e o e o e 3 LA



[Question ID = 478][Question Description = 163_01_Economics_0OCT22_Q63]
(D) and (E) only

1.

2.

3.

4.

4+ (D) =1 (E)

[Option ID = 1909]
(B), (C) and (E) only

4= (B). (C) =7 (E)

[Option ID = 1910]
(B). «C) and (D) only

Fae (B). (C) =517 (D)

[Option ID = 1911]
(A). (D) and (E) only

#ad (A). (D) =1 (E)

[Option ID = 1912]

64)

Below are some of the features of the Miere. Small and Medium enterprises (MSMEs) in

India.

{(A)
(B)

(C)
(D)

(E)

Revised definition of the MSMEs was brought in July 2020

In this definition turnover limit varied between service and manufacturing
enterprises

In the revised definition turnover limit for small enterprises was Rs.50 crore

In this revised definition. investment himit 1n plant and machinery or eguipment for
medium enterprises was Rs.50 crore

In the revised definifion. Investment limit for plant and machinery or equipment for
medium enterpriseswas Hs.D crore

Choose the correct answer from the options given below :

HTA § qEE, W S0 A S9N F AGH °§ $9 95 [eEd 2| 59 a1

(A)
(B)
(&)
(D)
(E)

THUEUEE 1wl qiearn qers 2020 7 = =

3| afeaTr # Fer T S BREE TE1 " i 29w e 1w R

il SET A 57 T 0 Fe 109 RS R e E.60 S 2

HeTiie T § 9 37 geiET 2SS9 | a5 e 5,50 Fs a

HITtae TR T T S GO % T SR § faHaT e .5 s

Fi5 foo w0 fawegt 9 ° 58 59 = w9 Fiow

[Question ID = 479][Question Description = 164_01_Economics_0OCT22_Q64]
(A), (D) and (E) only

1.

2.

3.

FT= (A). (D) 31 (E)

[Option ID = 1913]
(A), (C) and (D) only

Fae (A). (C) #77 (D)

[Option ID = 1914]
(D) and (E) only



4.

Fad (D) #17 (E)

[Option ID = 1915]
L‘!L]' (B) and {D} [}ﬂ]v

Fae (A). (B) #1 (D)

[Option ID = 1916]

65)

Pradhan Mantri Jan Dhan Yojana (PMJDY) has been a flagship programme of the
Government of India

{A)
(B}
(C)

(D)
{E}

Beneficiaries of thiz scheme are elizible for accident insurance cover of Rs. 1 Iakh now
PMJIDY 1s helpful in inclusive development

PMJDY beneficiaries should not be given other henefits like benefits under MUDRA
scheme

It 1z leading to women sempowerment

IMore than 43 crore people have benefitted so far under PMJIDY

Choose the most appropriate answer from the options given below :

TIH TS T 9 AT 90 FORR F OF S SR 0 geeariedt A 2| wE g § d fawe =

(A)  IH AT F A A A F 1T, H Y B

(B)  3EE wimlew Em ¥ wEE me w

(©) i wm. SEAs o e ag SR % we (o a wE e
(D) 589 AEa HHEE A

(E) o001 F 389 45 7S v #9100 9 SLAE. H A e
e Tau o fawe © @ wf = w =9E e

[Question ID = 480][Question Description = 165_01_Economics_0OCT22_Q65]
(A). (B) and (C) anly

1.

2.

3.

4.

= (A), (B) 31 (C)

[Option ID = 1917]
(B). (C) and (D) only

Fae (B). (C) =7 (D)

[Option ID = 1918]
(B). (D) and (E) only

Fa+ (B), (D) #n (E)

[Option ID = 1919]
(A), () and (E) only

= (A). (D) 5 (E)

[Option ID = 1920]



66)

Match List I with Tast 11 ;

Tist I

List II

(A) The greatest zood for the greater (I) Learnersindex

number

(B) stability of general equilibrium

(C) degree of monopoly power

(D) third degres price-diserimination

-1 % =19 1 g-11 oo it

(A)
(B)
i)
(D}

4 {5u 0 ool # | ®Al 39 1 == A

"

AL

R s e e R R

(II) Bentham's eriterion
(ITI) Tatonnement
(IV) Pigou

Chaose the correct answer from the options given helow :

@) et g
1) =7 qUETs
(IID) T i
IV) T

[Question ID = 481][Question Description = 166_01_Economics_0OCT22_Q66]
T (A)-OV). (B)(IID). (C)-(I), (D)«(ID)

[Option ID = 1921]
2. (A)-(TIV). (B)-(IOL), (C)-(ID). (D)-(D)

[Option ID = 1922]
3. (A)(D). (B)-(IIL). (CH«(II), (D)«(IV)

[Option ID = 1923]
4 (A)(IL). (B)-(IIT). (C)-(D). (D)-(IV)

[Option ID = 1924]

67) WMatch List T with Tist IT :

List I

(A) Absolute Income Hypothesis
iB) Relative Income Hypothesis
(C) Permanent Income Hypothesis

(D) Life Cycle Hypothesis

List II
(I Milton Friedman
(I; JAL Kevnes
(I} James Dusenbery
(IV) France Modiglam

Chooze the correct answer from the options given below :

T=E1-1 % =1 = 111 TR i

(A)
(B)
(C)
(D)

Hr fau T faweal | © #E I H] =9 A

T=l-I
e A TR



[Question ID = 482][Question Description = 167_01_Economics_0CT22_Q67]
T (AT, (B)-(I), (C)-(IV). (D)-(I1I)

[Option ID = 1925]
2. (A)IT), (B)-(IIL), (C)-(I), (D)-(IV)

[Option ID = 1926]
30 (A(TV). (B)-(IOT), (C)-(IL). (D)-(I)

[Option ID = 1927]
4. (A)-(III). (B)-(II). (C)-(I). (D)-(IV)

[Option ID = 1928]

68) \latch List I with List IT -

List] Tist IT

(A) Monev supply and price level in an (I) A W. Phillips
economy are indirect proportion

(By Inverse relationship between (II) Fisher
unemplovment and rate of wage
inflation

(C) Profit as reward for mmnoevation (IIT} Robert Lucas

(D) Policy ineffective proposition (IV) Joseph Schumpeter

Chooze the correct answer from the options given below :
gfi-15 a4 =1 gei-11 Toem Hifan

mI AL
(&) T o syd=geE § g wg v geg w (1) TS S
eI B 0 A
(B) AT T mEgl ORI § uiaem g (1D TR
(C) =2 =TS T TeAv YR TEET o (IIT) 71 ot

(D) ifa s Wi (IV) =& s

4= 7o fagea § 9 99 35 R 99 e
[Question ID = 483][Question Description = 168_01_Economics_0OCT22_Q68]
1. (A)I). (B)-(I). (C)-«(IV). (D)-(III)

[Option ID = 1929]
2. (AW(IID). (B)~(IL}. (C)-(T). (D)-(IV)

[Option ID = 1930]
3. (ARID). (By-(IV), (C)-(III). (DT}

[Option ID = 1931]
4. (A)HIV). (Bi-(OD. (C-(ID. (Dy-(D

[Option ID = 1932]



69) Match List I with List I :
Last I Ligt IT
(A) Testing of overall significance iI) Chi-square test
(B) Testing the independence of atiributes (II) Jarque-Bera test
(C) Testing the significance of regresizon (III) F-test
coefficients
(D) Normality test iIV) t-test

Choose the correct answer from the options given below :

1.1 9 F G-I e =it

-1 TH1-1L
(A) TER HEeg AT (I)  FTs-TFar g
(B) TN % A=l = 1 AiEm (II) FR—= afvam
(C) WITET T % HEed W AT (IIT) F-qiaor
(D) FTAT=ETFI o (IV) T-giemy

49 2w T fae ° | wE I R g Fiaw
[Question ID = 484][Question Description = 169_01_Economics_0OCT22_Q69]
T (A(D). (B)-(IL). (C)-(III). (DH-(TV)

[Option ID = 1933] .
2. (AWIID), (B)-(I). (C)-IV), (Dy-(IT)

[Option ID = 1934]

30 (A)uD. (B)-(IV). (C)-(IID, (D)-(II)
[Option ID = 1935]

4 (A)(D). (B)-(TID). (C)-(IV). (D)-(IT)

[Option ID = 1936]

70)  Match List T with List I :

TistI Tist IT
(A) Size mattersin international trade (I} Paul Erugman

(B) Economies of scale and monopoliztic (II) Merveantilists
competition in international trade

(C) Technological gap theory of trade (ITI) MLV, Posner
(DY Zero sum game of trade (IV) The gravity model

Choose the correct answer from the options given below :



-1 T2 F1 g-11 THere i

-1 -1
(A) aiﬂd.fsjm- =9E B 37T H Oeed 7 () == ;_x;‘flﬂ:r
(B) #augid =W H 99E H Wweatgam s () aEeE
(C) =amar =1 =i Hat FgE (IIT) wm 1. 95
(D) =MW 1 S #E (IV) o o= oz

Fr for T fawe © § O I W 999 Fia

[Question ID = 485][Question Description = 170_01_Economics_0CT22_Q70]
T (A)(IV). (B-(TID. (C)-(D). (D)-(ID)

[Option ID = 1937]
2. (A)-(IV), (B)-(Iy. (C)-(IDIL), (Dy=(11)

[Option ID = 1938]
3. (AIID), (B)~(I). (C)-IV), (D)-(IT)

[Option ID = 1939]
4 (AL, (B)-IV). (O, (D)-(1T)

[Option ID = 1940]

71)  Match List I with List IT ¢
List I List II
(4) Bural-Urban migration (I Arthur Lewis
(B) Economic develpoment with unlimited (II) Gunnar myrdal
supply of lahour
(C)  Process of cumulative causation (IIT)y Raul Prebisch
(D) Decline in terms of trade of primary (IV) Harriz-Todaro
commodities
Choose the correct answer from the options given below :
-1 % =19 1 g0 Taere i
=1 =111
(A)  THm-TE T (I TR ==
(B) #H * SWMEd Tewad ® =g wndw (D) T e
(C) ==l = 1 (ITT) 77 Te=
(D) St Sl F W o Il 5 (IV) #fm= Zrem

= fou 7w fa=e 7 | 39 390 F1 =999 e

[Question ID = 486][Question Description = 171_01_Economics_0CT22_Q71]
T (A-D. (B)-(IV), (C)-(II). (D)-(11D)

[Option ID = 1941]
2. (A(IV). (B)-(I), (Cr-(IT), (D)«(IIT)

[Option ID = 1942]
30 (AT (BY-(TV). (O)-(IID), (D)-(IT)



[Option ID = 1943]
4. (A)-D), (B)-(IO), (C)-(IT), (D)-(IV)

[Option ID = 1944]

72)  \latch List T with List IT :

ListI List IT
(A) Pure Public good (I Non-rival but excludable
(B) Pure Private good (IT) Non-excludable but rivaliv
(C')  Open acess resources (IITy Non-rival and non-excludahble
(D) Congestible resource (IV) Excludable and rmval

Chonse the correct answer from the options given helow :

-1 g i g1t i

i) =111
(&) T5 wETEF T @) wAwtaerd] s s
(B) g M3 =g (I)  sAgaF W it
(C) o= AEas (II) wufeead] v AAETF
(D) HFieTa JarE ([V) wigemd vd seas+

Fr foo 7o fomeat B | FF1 3T T 9A i
[Question ID = 487][Question Description = 172_01_Economics_0CT22_Q72]
T (A)(IIL). (B)-(IV). (C)-(I). (D)-(IT)

[Option ID = 1945]
2. (A)(III), (B)-(IV). (CH-(IT), (D)-(T)

[Option ID = 1946]
3. (A(D. (B)-(IT), (C)-(III). (D)-(IV)

[Option ID = 1947]
4. (A)(IID), (B)-(ID). (C)-(I). (D)-(IV)

[Option ID = 1948]

73)  Match List Twith List 11 :

LastI List II
(A) Reverse repor rate (I RBI provides loan to commercial banlks for short term
(B) Bank rate (I} RBI provides loan to commercial hanks for long term
(C) Repo rate (IITy RBI borrows money from commercial banks
(D) Cash reserve ratio (IV) Commercial banks have to deposit minimum ratia of

their net total liabilities in RBI

Choosze the correct answer from the options given below :



F=T-1 % Ty 1 g1 e i

-1 F-I1
@) womEd o i W (D) S i d ey sat w5 w
(B) FFT (II) 0001, 3775, AToiregen seh] 1 519 =iy 1 #4597 2
(C) TR (IIT) AW 5978, i &1 & &t ol 7
(D) ¥z FARIES FHIA (IV) =ioif=aeh 51 =1 994 Fe Siacal H1 =09 Moo 0.6, 67,

E1i B e B e B e o v e 1 e o e ) L

[Question ID = 488][Question Description = 173_01_Economics_0CT22_Q73]
T (AT, (B)-(IID), (C)-(IT). {D)-(IV)

[Option ID = 1949]
2. (A)-(III), (B)-(IL). (C)-(I). (D)-(IV)

[Option ID = 1950]
3. (A)(IID. (Bi-(I), (Ch-(IT), (D)-(IV)

[Option ID = 1951]
4 (AT, (B)-(ID), (O)«(IID). (D)-(IV)

[Option ID = 1952]

74)  Match List T with List IT :

TastI List IT
(A) FEMA (I 18969
(B) NMRTP Act (ILy 2002
(C) Competition Act (IITy 1975
(Dy FERA (IV)y 1999

Choose the correct answer from the options given below :

Tet-1 % wg w FEi-11 e it -

-1 eI
(A) TEITAT @ 1969
(B) vH.HE.#.b, v (II) 2002
(C) i uwz (weidem) (D) 1973
(D) TEEHAWT, {IV) 1999

9 feo w fawedl © 9 9F I w99 Fa
[Question ID = 489][Question Description = 174_01_Economics_0CT22_Q74]
T (A)-(I). (B)-(IT), (C)-(IV). (D)-(III)

[Option ID = 1953]
2. (A)(IID), (By-(I). (C)-({IL). (D)-(IV)
[Option ID = 1954]
3. (A)-(IV). (B)-(ID). (C)+D), (D)-(1I)

[Option ID = 1955]
4 (A)(IV) (B-(D), (Ch-(IT), (D)-(I113



[Option ID = 1956]

75)  Match List T with List IT :
Tist I Last IT
(A) Andhra Pradesh PCI in 2020-21 (I) Rs. 98418
(B) Madhya Pradesh PCI in 2020-21 (Il Rs. 1.09.730
(C) Odisha PCIin 202021 (I} Rs. 1.21.267
(D) West Bengal PCI in 2020-21 (IV) Rs.1.70.215
Choose the correct answer from the options given below :
=T F W =1 g1-11 e Fifem
=L -1
(A) 2020-21 % 39 w5 | UIHLAE. (I 98418
(B) 2020-214 m%7 757 § 9.4, A= (II) 109730
(C)  2020-21 % 3fsar § 9141377, (I} 121267
(D) 2020-21 9 gfv=m smer 5 916,561 (IV) 170215

¥ o T gl O @ A8 I 1 =9 A

[Question ID = 490][Question Description = 175_01_Economics_0CT22_Q75]
1. (A}, (B)-(D). {C)-(IIT), (I)-(IV)

[Option ID = 1957]
2. (A)-(IV). (B)-(I), (C)(II), (D)<(IIT)

[Option ID = 1958]
3. (A)IV). (B)ID). (CriD. (D11

[Option ID = 1959]
4. (A, (B)-(I). (C)-(IL), (D)-(IV)

[Option ID = 1960]
76) Arrange the diffevent schools of thousht in a sequence of their occurance starting from the
oldest,
(A) Physiocrats
{B) Keynesian economics
(C) Classical economics
(D) New Kevnesian economics

{E) Monetarist Counter revolution

Choose the correct answer from the options given below :



fom-Tom Prmamen #1 @58 T=F @ 9% 719 50 FEEEEAT STEnan F6 3 ST

(A)  TEREE]

(B)  FrHT
(C)  FoEEE wam
(D) 79w A

(E)  wpmEm = i

41 T20 70 Tawedl § 9 HE1 309 o 99T Hia
[Question ID = 491][Question Description = 176_01_Economics_0OCT22_Q76]
1. (A). (B). (C). (E). (D)

[Option ID = 1961]
2. (A)(C). (E) (B) (D)

[Option ID = 1962]
300 (A), (B (Ey (T (D)

[Option ID = 1963]
4 {A) (O, (B) (E). (D)

[Option ID = 1964]
7) Arrange the countries based on descending order of Human Development Index Value in

2019,

(A) Norway

(B)  Bangladesh

(C) India
(D) China
(Ey  Nepal

Choose the correct answer from the options given below :

FetEs T w2019 T 9ee 5 g | 9 T SEEE S F9 § o

(A) A=

(B) AT
(C) ¥ma
Dy ==
(B) Aue

A
7]



[Question ID = 492][Question Description = 177_01_Economics_0CT22_Q77]
(A). (D). (). (B). (E)

1.

2.

3.

4.

[Option ID = 1965]
(D). (A). (B, (E}, (C)

[Option ID = 1966]
(A). (D). (B (O, (E)

[Option ID = 1967]
(A), (D). (BY. (E). (C)

[Option ID = 1968]

78)

1.

2.

3.

4.

Arrange the states in descending order based on percentage of population who are

multidimensionally poor hased on NITI Aavog Report 2021.

{A)
(B)
(C)
(D)

{E)

Bihar

Odisha
Rajasthan
Uttar Pradesh

Madhya Pradezh

Choose the correct answer from the options given below :

it T 1 2021 7 T F IET W wR A TWE S F J69d $ ATE AT T 6

FATE #9 4 e

(A)
(B)
(<)
(D)

(E)

neg ueE

E i G 1 o e e e ol R B ) =

[Question ID = 493][Question Description = 178_01_Economics_0CT22_Q78]
(A). (D), (E)AC). (B)

[Option ID = 1969]
(A). (E). (C). (D). (B)

[Option ID = 1970]
(A (C). (E) (B (D)

[Option ID = 1971]
(AL, (B). (C). (E). (I}

[Option ID = 1972]



79)  Avrange the following events in sequence (the oldest one being first)

{A) The Tokyo Round
{B) The Uruguay Round
(C)  The Annecy Round
(D)  The Dillon Round

(E) The Torquay Round

Choose the correct answer from the options given below :
TeAteias AMEAl F %6 § @ (FEE TR 5N FEEA F 9 96 )
(A) T oEE
(B) oA TEs
(C) T e
(D) Teem s

(E) =794 7SS

S i 0 o o e e o e ) 2 e 10 L

[Question ID = 494][Question Description = 179_01_Economics_0CT22_Q79]
1. (C), (E). (D), (B). (A)

[Option ID = 1973]
2. (E). (C). (A), (D). (B)

[Option ID = 1974]
3. (C). (E). (D). (A). (B)

[Option ID = 1975]
4 (E). (0. (D). (A). (B)

[Option ID = 1976]
80)  Write the steps to estimate the ECALIVAR model in time series,

(A) Unat root test

(B) ACF and PACF test
(C) ECM/VAR

(D)  Inputting data

(E) Cointegration test

Choose the correct answer from the options given below :



HEA Yo § FHOE AT A5 5 R & S0 HE 5

(&)  FF= =2 TEm
(€)  =m /e
(D) =T ==

(E)  ==—TrhrR e

= fon m faweal § F 991 35 w0 99a Fian

[Question ID = 495][Question Description = 180_01_Economics_0OCT22_Q80]
. (D). (A), (E). (B). (C)

[Option ID = 1977]
2. (D), (B), (A, (C), (E)

[Option ID = 1978]
3.0 (D). (B (A (E). (C)

[Option ID = 1979]
4. (B). {(A). (D). (E), (O

[Option ID = 1980]
81) Arranse the following chronologically in order of their yvears of first occurrence:

{A) Environmental Kuznets Curve Hypothesis

B Limits to growth theorem

(C) Bouldings ‘The Economies of Coming Spaceship Earth’
(D) Jevon's Coal Question

(E) Raechel Canson's Silent Spring

Choose the correct answer from the eptions given below :

At 1 = Teeil 91 5H 99 FeRTEAT A i

(A) T HEH FEATE g% A

(B) g = fgm

(C) =T & S WA AR w5 OHE
(D) =T R :r;na—r[

(E) == F184 = FiEeie =0

= foo o fageat © © ot 3 w1 = i

[Question ID = 496][Question Description = 181_01_Economics_0CT22_Q81]



(E). (A). (B), (D). (C)

[Option ID = 1981]
(A)(C). (D). (B (E)

[Option ID = 1982]
(I, (A (E) (C), (B)

[Option ID = 1983]
{E). (D). (€). (B). (&)

[Option ID = 1984]

82)

Arrange the following Environmental disasters chronologically in accordance of them
DECULTETCE

(A) Bhopal Gag Tragedy

(B) Chernobye explosion

(C) London smog episades

(D) Exxon Valdez

(E) The Threemile Island Nuclear Disaster

Choose the correct answer from the options given below :

(A)
(B)
(C)
(I

(E)

Tz ofi wEe sEes fEE A

1= I (ot B e = = ot e e e o e 1 L

[Question ID = 497][Question Description = 182_01_Economics_0CT22_Q82]
(A). (D) (E) (C) (B)

1.

2.

3.

4.

[Option ID = 1985]
(C), (E), (A, (B), (D)

[Option ID = 1986]
(A). (), (D). (E). (B)

[Option ID = 1987]
(B). (C). (D), (A (E)

[Option ID = 1988]



83) Asrange the following in ascending order

(A) Growth rate of Gross National Income (at constant price) of India in 2015-16
(B) Growth rate of Gross National Income (at constant price) of India 1n 2016-17
(C) Growth rate of Gross National Income (at constant price) of India in 2017-18

D) Growth rate of Gross National Income (at constant price) of India in 2015-19

(E) Growth rate of Gross National Income (at constant price) of India in 2019-20

Choose the correct answer from the options given helow :
=g 1 AW 8 § =W
(A) 201516 % 9vd 1 Tww TEE WM (o Fime W) F IE 7
(B)  2016-17F 977 5 TF« T2E 9@ (Fow Fma @) T o =
(C)  2017-18% 9wa 1 TF= T2E AW (o Fmal =) i g
D) 2018197 qud 61 Ther 7gH 39 (o Fmer @) Fi gfg =

(B)  2019-20% wwa 1 wer e 579 (Few Fet ) Fi 3fg =

= o 7w foewi § 9 =9 =9 w1 =99 Fi

[Question ID = 498][Question Description = 183_01_Economics_0OCT22_Q83]
1. (E). (A (D). (C). (B)

[Option ID = 1989]
2. (C).(E) (B). (D). (A)

[Option ID = 1990]
3. (BN D) (€))L (A). (B)

[Option ID = 1991]
4 (C). (D). (E). (Bl (A)

[Option ID = 1992]

84) (Criteria and weights assigned by the Fifteenth Finance Commission of India for Horizontal

Devolution:

(A) Area

(B) Forest and Ecology
(C)  Income Distance

(D)  Tax and Fiscal efforts

(E) Demographic performance

Choose the correct answer from the options given below :



(A)  #EEe
(B) =9 31 et
(C) M ¥

(D) = 33 A v

WL, i e
(E)  FAiaahm FEEem

E 15 M G A o e B = d s e 0 e e 2 1

[Question ID = 499][Question Description = 184_01_Economics_0OCT22_Q84]
1. (D). (B). (E). (A) ()

[Option ID = 1993]
2. (B). D) (AL (En ()

[Option ID = 1994]
3. (E). (A) (D), (C). (B)

[Option ID = 1995]
4 (A). (D). (B). (O). (E)

[Option ID = 1996]

83) Provide proper chronological order of different schemes launched in India

{A) Pradhan Mantri Jan Aushadhi Yojana
(B} Pradhan Mantri Ujjwala Yojana

(C)  Atal Pension Yojana

(D) PM Jan Dhan Yojana

{E) Avushman Bharat Yojana

Chooze the correct answer from the options given below :

WA § 95 ] TS 19T SR 3T R ET Sy
(A)  TaE o W sed T

(B)  wam w1 TEEET A

(C) 3329 T9E A

(D) WU HE AH-Y AT

(E) SR R T

E1i I G e e e R e e e o e i e 0 e

[Question ID = 500][Question Description = 185_01_Economics_0OCT22_Q85]



(C), (B, (A, (D). (E)

[Option ID = 1997]

(C). (D). (B). (A). (E)
[Option ID = 1998]

(D). (A). (B (C). (E)

[Option ID = 1999]
(D). (C). (A (B). (E)

[Option ID = 2000]

86) Given below ave two statements :

Statement I : If you bought a product which now becomes subject to tax. you will be 1n a
better position to avoid the tax and the seller bears with a larger part if

vour demand is elastic while zeller's supply is inelastic.

Statement 1T : A tax on salt 1= likely to be borne by the consumer.

In the hight of the above statements. choose the most appropriate answer from the options

given below :
E 1Mt e o 8 Gt
FAL:  Fin AU UF 35905 WL A A9 W 6 AU S 2, A 9 o4 8 59 9 i 850 e 8

71 TEG 2, FE A B 39 A(9EaA SW 95 e A 69 8 oe 21 AR e # g w

=T 7

FoE ;. F9% T S I IO F 6 e 0 A

T U E AT 9, J 150 T el ¥ H HeE 0 I = R

[Question ID = 501][Question Description = 186_01_Economics_0CT22_Q86]

1.

2.

3.

4.

Both Statement I and Statement I are corrvect
FoF 1 #A0 5 =8 2

[Option ID = 2001]
Both Statement I and Statement IT are incorrect
w2 1 # I5Ei e 7

[Option ID = 2002]
Statement I 1s correct but Statement IT 1= incorrect
Fe 1A 7, = 529 1T &

[Option ID = 2003]

Statement I is incorrect but Statement IT is correct

ERE B Rt B o e e e =

[Option ID = 2004]



87) Given below are two statements

Statement I: Dualism refer to economic and social divisions In an economyv, such as
difference in the level of technolozy between sectors or regions, differences
mn the degree of zeographic development and differences in social customs
and attitudes,

Statement I1: The developing countries in the early stase of development experence
dualism. which have implications for future pattern and pace of
development.

In the hight of the above statements. choose the most correct answer from the options given
‘below :

4 71 %9 fon o E
TR 1: T sderaen | Aam o9l s s A e e R W e R e g

W, AT S 9 6 S, SEE G O OO A e SR ST  JETSE o |16

FEFT § T A G A

wu IL:  faemmmeiisr 5o T & anieas S9e 1 gaamn 6 SN 994 7 SEE S 9 5 iaEm
= A AN FH W TEAT

I U F A o, A e T e ¥ F e 9 I =9 e

[Question ID = 502][Question Description = 187_01_Economics_0CT22_Q87]
1. Bath Statemnent I and Statement IT are twue

#2071 3 [T 909 &
[Option ID = 2005]
2. Bath Statement I and Statement IT are false
Fzm 1 30 I 5H) #3801 2

[Option ID = 2006]
3. Statement I is true but Statement 11 is false

Fo4 [ aex 2, =A F29 11 27907 &
[Option ID = 2007]
4. Statement I 1= false but Statement I is true
Fom [ w5 &, ©0EG %94 1154 2

[Option ID = 2008]



88)  (iiven below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : The Endogenocus growth theory examines production function that
shows 1nereasing returns.

Reason R . Increasing returns in Endogenous growth theory is due to spectalization

and investment in knowledze capital and learning by doinz.

In the light of the above statements. choose the most appropriate answer from the options

given below :

19 o F99 B0 # ¢ UF 99 (Assertion A) % ®9 § foiEm & Al LRz % #1 (Reasons R) &
vorsd fal £ o i . % . o I ;
HATTFLA (A) | e (B o B 2 2 R 2 e e | L B P o M T 22 R o G e b o o e

C b Al 3
AR =61 900 =1

1 (R) T (AEE TgE ¥ wedl 59 OAeE, 59 H 96 0 H R f2iEd F FEn F
HAY HEE 7

I A AT H, A G0 T FEed] 3 H HeE 294 3 B w5 R0
[Question ID = 503][Question Description = 188_01_Economics_0OCT22_Q88]
1. Both (A) and (R) are correct and (R) is the correct explanation of (&)
(A) 37 (R) 7F1 521 2 397 (R), (A) F 791 =T 7

[Option ID = 2009]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

F

(A) #7 (R) =71 T 2, =05 (R), (A) 1 o7 = 75 5
[Option ID = 2010]
3. {A) iz correct but (R) is not correct
(A)TH] =, =R (R) &A1 771 7
[Option ID = 2011]
4. (A) 1z not correct but (B) 1 correct
(A) = 97 B, =i (R) 581 &

[Option ID = 2012]

89) @iven below are two statements :
Statement I ¢ Devaluation alwayvs correct a chronic balance of payments deficit.
Statement II ¢ An expected devaluation leadz speculative. capital outflows from

domestic country.

In the light of the above statements, chooze the correct answer from the options given below :



4 51 FE lu T F

Fo1:  WE0E Ood UF o0 B84 H 96 31 72 EE 91 979 % 9wl 7

Fo I0: T A FETEE A W W22 o g R AT e

U FYA F A °, A= B e § g gen od 35 w5 =9 i
[Question ID = 504][Question Description = 189_01_Economics_0OCT22_Q89]
1. PBoth Statement I and Statement II are true

Fo 1 #Aw [ 5 &ed 7

[Option ID = 2013]
2. Both Statement I and Statement II ave false

e 1 31 1L 5[ /e =

[Option ID = 2014]
3. Statement I is true but Statement II is false

FuA 1 6ed 2, =i Fud 1 500 2

[Option ID = 2015]
4. Statement I 1= false but Statement Il 1= true

Fua 1 580 2, = 9 a2
[Option ID = 2016]

90) @Given helow are two statements ;

Statement 1 : Taking advantage of the increased demand for staples during the
COVID-19 pandemic. India’s agricultural exports eontinued to do well

in 2021-22

Statement IT :  Like in the vear 2020-21, segments like marine produets. buffalo meat.
tea. coffee and dalry products continued to perform poorly in terms of

exports from India in 2021-22

In the light of the above statements. choose the correct answer from the options given below :



1= =1 %A fgu T E

Fo 1:  FIEE-19 TEWET F AWE GEE F A0 6 5 315 F FEE 38 50 96E 6 FN e

e e f = X
2021-22 5 91 757 "@a T/ 7

Foa I: a9 2020-21 %1 = 71 2 @UE 39 F wupl 300s, 99 o0, 99, w6 T 7Y S0 #6W

2021-22 § TH=1A F WY 0 WETE @A E R

b LR b i o e = | =T - T = 2 T = £ = ot M e 1 - 2 e 1 -

[Question ID = 505][Question Description = 190_01_Economics_0CT22_Q90]

1.

2.

3.

4.

Both Statement I and Statement I are true

Fo [ AR I ZA 89 =

[Option ID = 2017]

Both Statement [ and Statement IT are falzse

Fo [ s [ 5FT 559 7

[Option ID = 2018]

Statement I 12 true but Statement IT 1= falze

w7 157 7, @i #9411 989 7

[Option ID = 2019]

Statement Tis false but Statement IT i= true

o[ [ 9aea 2, A s [l o= 2

[Option ID = 2020]

Topic:- 1_PART_B_Set1

1)

Read the given passage and answer the gquestions:

Although globalisation is often accused of increasing world poverty. the fact 1s that poverty
would probably be even more widespread without globalisation. What is true 1s that
globalisation did not henefit all nations. What globalisation can be blamed for 1= not
spreading the benefits of increased efficiency and openness that come with globalization more
evenly and equitably to all nations. The stock of Foreign Ilrect investments around the
World =tates that in 2010, the mward =tock of FDI of developing countiies was 48 percent
that of developed countries. while thenr stock of outward FDI was about 17 percent that of
developed countries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made I many different nations. The reason is to minimize production costs. Foreign
“spurcing” of inputs is often not a matter of choice to earn higher profit. but simply a
requirement to remain competitive, The ecarry Trade 13 the strategy in which an investor
borrows a low vielding currency and lends (invest in) a higher yvielding currency. The risk 1s
that if during the investment period. the higher vielding currency depreciates against the
lower vielding currency by a higher percentage than the positive Interest differentials. the
investor will lose money.



= TTE 1 T v e u e w5 I A

=TT v WA fava fi e § gy # e e A 2 S 9w 923 2 e e
Srdi # T8 w0 § IEE F T 9T = FEETE vd g o e T e e
dvErE F W Tt 29 % O 59 €4 A 9uae9 oF W AW 3| Eva W g e uee e =i
a9 2010 5 Taeriaa 51 =1 UFREIAE B AEE =iE 48% U1 AHCE (ShEa <9 H S AT 2 o
17% 491 941 F=01gE A4S 9T (AT S6E 2 TR S=EE el g S9E # Al 4
= 77 Fa= v v 2| S SEE TF A 2 EY A OF 9 ST9EE] 951 390 o4 @R 39 5=

AT qE1 § 397 (FE9) WA 7| T[99 e w5 wihEs ¢ 5 I s gm w9 S g5
T I H W AT (A 3 A genien w2 i s e ate F w2

Which of the following is true?

Tr=ietias 5 | i | OHa B¢

[Question ID = 506][Question Description = 191_01_Economics_0OCT22_Q91]

1.

2.

3.

4.

2)

Because of globahization poverty has increased in all the countries of the world

Hfvaam = Fm favg & wofi 2o F e A At = R

[Option ID = 2021]

Because of globalisation poverty has reduced in all the countries of the world

Hfeawm F ®=nv fava % o o0 § e | o 2

[Option ID = 2022]

Without glebalisation world poverty would probably be even more widespread

o Afvaen & fava A Al T S0 e we T 2

[Option ID = 2023]

Without globalisation world poverty would probably be even less widespread

T Sfrawr F fava § 7 e F9 8 TEA

[Option ID = 2024]

Read the given passage and answer the questions:

Although globalisation is often accused of increasing world poverty. the fact 1z that poverty
would probably be even more widespread without globalisation. What is true 1s that
globalisation did not henefit all nations. What globahsation can be blamed for i1s not
spreading the benefits of increased efficlency and openness that come with globalization more
evenly and equitably to all nations. The stock of Forelgn Direct investments around the
World states that in 2010, the mward =tock of FDI of developing countiies was 48 percent
that of developed countries. while then stock of outward FDI was about 17 percent that of
developed countries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made mm many different nations. The reason is to minimize production costs. Foreign
“sourcing” of inputs i= often not a matter of cheoice to earn higher profit. but simply a
requirement to remain competitive, The carry Trade 13 the stratezv in which an investor
borrows a low vielding currency and lends (invest in) a higher yvielding currency. The risk 1s
that if during the investment period. the higher melding currency depreciates against the
lower vielding currency by a higher percentage than the positive Interest differentials. the
investor will lose money.



= TTE 1 T v e u e w5 I A

=TT v WA fava fi e § gy # e e A 2 S 9w 923 2 e e
Srdi # T8 w0 § IEE F T 9T = FEETE vd g o e T e e
dvErE F W Tt 29 % O 59 €4 A 9uae9 oF W AW 3| Eva W g e uee e =i
a9 2010 5 Taeriaa 51 =1 UFREIAE B AEE =iE 48% U1 AHCE (ShEa <9 H S AT 2 o
17% 491 941 F=01gE A4S 9T (AT S6E 2 TR S=EE el g S9E # Al 4
= 77 Fa= v v 2| S SEE TF A 2 EY A OF 9 ST9EE] 951 390 o4 @R 39 5=

AT qE1 § 397 (FE9) WA 7| T[99 e w5 wihEs ¢ 5 I s gm w9 S g5
T I H W AT (A 3 A genien w2 i s e ate F w2

What for globalisation has been blamed?

[Question ID = 507][Question Description = 192_01_Economics_0CT22_Q92]

1.

2.

3.

3)

Globalization has neither increased efficiency nor openness

Ay 7 7 A1 FEEEaT #{ T i g g9

[Option ID = 2025]

Globahsation has increased both efficiency & openness

Afvam 3 FEaTa vE e A H 3fg = 7

[Option ID = 2026]

(Globalisation has increased efficiency but not openness

Afvawrn 3 FEAA 1 afg F A gorE T8 5

[Option ID = 2027]

Glohahsation has not spreaded the henefits of increazed efficiency and openness
equitably to all nations

Afvadon 5 wfi—con 9 wEE B9 A FEAHE U9 G & ATl S agEl A6 2

[Option ID = 2028]

Read the given passage and answer the questions:

Although glebalisation is often accused of increasing world poverty. the fact iz that poverty
would probably be even more widespread without globalisation. What is true 1s that
zlobalisation did not henefit all nations. What globahisation can be blamed for is not
spreading the benefits of increased efficiency and openness that come with =lobalisation more
evenly and equitably to all nations. The stock of Forelgn Direct investments around the
World states that in 2010, the mward stock of FDI of developing countries was 48 percent
that of developed countries. while then stock of outward FDI was about 17 percent that of
developed ecountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made in many different nations. The reazon iz to mumnuse production costs. Foreign
“sourcing” of inputs is often not a matter of cholce to earn higher profit. but simply a
requirement to remain competitive, The earry Trade 13 the strategy in which an investor
bhorrows a low vielding currency and lends (invest in) a higher vielding currency. The sk is
that if during the investment period. the higher melding currency depreciates against the
lower yielding currency by a higher percentage than the positive interest differentials. the
investor will lose money.



=1 T w1 T v e O W I A

=TT SvEE i wE: e i e T gig w1 S S 2 S 92 5e 2 e w5 e
e e au e B 22 i Dt B e A e P e o | e e o e B e 1 = o e e
i % W W 791 % T AEH B9 U HEAed 47 9 # #| fve wr | faeell gena fagen = =i
g 2010 5 e 290 1 UFEIAE W OATEE 2 489 W FEEE TIEEE 59 H 39 AdE T2 o
17% 71| 951 A=A19d A0S Oud (AHESTH) 96T 5 % S [E g HiuE # Ags A
o1 aF %9 TH A 2| FTE ST UF i 2 T S U 9 SN 4 391 oAl B s 39 39
A T § 3av (A e 2| s e AT i ¢ = S 5g o Fe e gm e
T GO H HEAIHF ST (A A SE YeaiEn A 7 A Beid Hae i e e wwe A

Which of the following reflects the most correct sense of the New International Economies of
Scale (NIES)

FraferiEa § | fem 3 990 S=0TUE WF (TIATEETE ) S HaiaE | "TEA | ataeres e 2

[Question ID = 508][Question Description = 193_01_Economics_0OCT22_Q93]

1.

2.

3.

4.

All the parts and components of a product 1= manufactured in the host countrv only

FETTE Tl 9T U TS ] hAe Siaed 29§ A A e T E

[Option ID = 2029]
When all the parts and components of the product manufactured in the host country, it
minimize production costs in each of the producing country

B e i 1 B B e e 2 e o e e 8 L 2 et e B e T Rt e e
TG AT 1 JAAE wel A

[Option ID = 2030]
Cheaper inputs from different countries are required to remain competitive

L R T B Bl o2 e B o B e e e |

[Option ID = 2031]
The NIES i= more concern about profit rather than to remain competitive

[Option ID = 2032]



4)

Read the given passage and answer the questions:

Although glohalisation is often accused of increasing world poverty. the fact is that poverty
would probably be even more widespread without globalisation. What is true 1s that
globalisation did not henefit all nations. What globahisation can be blamed for is not
spreading the benefits of increased efficlency and openness that come with globalization more
evenly and equitably to all nations. The stock of Forelgn Direct investments around the
World states that n 2010, the mward stock of FDI of developing countries was 48 percent
that of developed countries. while thenr stock of outward FDI was about 17 percent that of
developed ecountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made m many different nations. The reason is to minimize production costs. Foreign
“sourcing” of inputs is often not a matter of choice to earn higher profit. but simply a
requirement to remain competitive, The earry Trade 13 the strategv in which an investor
horrows a low vielding currency and lends (invest in) a higher vielding currency. The 1sk is
that if during the investment period. the higher vielding currency depreciates against the
lower yielding currency by a higher percentage than the posifive interest differentials. the

investor will lose money.
|5 | N B e > e 3 =
=1 e =1 uE = e e ueEl S

I AT i WA T e § gig SR S S S 98 92 7 o T #5 e
Sedi F FE w0 T ITEE F T 9igT S RS UE ge o 6 e T e e
ST 9rg ot 297 F T weE B9 vd guges 3w AW F) v v o el aee T o w2
a9 2010 5 Taeriaa 591 91 UFEIAE H AT =i 48% W1 AER (ShEa 59 H 3 A9 T o
17% 91| 791 F=8E 9F T0ET (AR 5o 7 R S A e sieE @ oAt G
fo1u =12 “haet W weE 2| S ST U i 7 TAE AR wF e Sl 951 390 o B S 39 I
AT T E 3ar (FEe) w2 s R sl it 2 o= S s om w eeEr am
F= OO F HEATSE A (A 8 A ARt 7 7 Al $eid: Faeen e w5 2t 2

During the investment period. if the higher yielding currency depreciates against the lower
vielding curvency by a higher percentage than the positive interest differential then which of
the following will gecur?

faer wala % F, 99 0 S9NT G50 W1 qol § 99 S90S 451 6 S U9 ¥ Heae Bl E an

[Question ID = 509][Question Description = 194_01_Economics_0CT22_Q94]

1.

2.

3.

4.

The mvestor will lose money
EEHENE e E R uil
[Option ID = 2033]
The investor will earn profit
T 1 AT W A
[Option ID = 2034]
The profit of the investor will remain unaffected
= & =19 5 W S T8 TS

[Option ID = 2035]
None of the above

IF U H OFE A



E)

[Option ID = 2036]

Read the given passage and answer the questions:

Although globalisation is often accused of increasing world poverty, the fact iz that poverty
would probably be even more widespread without globalisation. What is true 1s that
zlobalisation did not henefit all nations. What globahisation can be blamed for is not
spreading the benefits of increased efficiency and openness that come with =lobalisation more
evenly and equitably to all nations. The stock of Foreign Direct investments around the
World states that in 2010, the mward =tock of FDI of developing countries was 48 percent
that of developed countries. while then stock of outward FDI was about 17 percent that of
developed ecountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made in many different nations. The reazon iz to mimnize production costs. Foreign
“sourcing” of inputs is often not a matter of cholce to earn higher profit. but simply a
requirement to remain competitive, The earry Trade 13 the strategy in which an investor
bhorrows a low vielding currency and lends (invest in) a higher vielding currency. The sk is
that if during the investment period. the higher melding currency depreciates against the
lower yielding currency by a higher percentage than the positive interest differentials. the
investor will lose money.

7= e 1 T v T O e # I A

I A7 i WA T i i § gig SR S A6 R S 98 92 7 o T #5 e
Sediam # T8 FO0 T IEE F T 9igT S FEAT Td e o R 6 e e
v F @ Wt 79 % O @9 0 U9 A99Ae oF W AW 3| Eva W 9 e uemd e =i
a9 2010 5 (aeriaa 591 91 TR B A7EE 2iE 48% W1 AHEh [Shma <9 H 9% A9 i o]
17% 21| 76 F=R1gE AF aEa (AT §a 7 5 S=gE T 5 wiaE | oA A
fo1u o =has v T 2| S ST U i 7 T5e HaveE oF 9 Sl 951 390 w9 B #3034
AT TR T 3aw (FEE) w2 3 e smta s 2 fF o= wvewet g g S gm
T TG0 H HEAHF ST (R o A SE YeaiEn A 7 A Bed: der = e Y e wie w

Which of the following 1s incorrect?

e R A A AR TR R

[Question ID = 510][Question Description = 195_01_Economics_0OCT22_Q95]

2.

3.

The inward stock of FDI to developing countries iz less than that of developed

countries

TEEIATE N T 59 S G B AR o9 H ST i A A
[Option ID = 2037]
The outward stock of FDI from developing countries is less than that of developed

countries

T A T g A e A A e = s e A

[Option ID = 2038]
Both the inward stock of FDI to developing countries and outward steck of FDI from
developing countries rvemained higher in developing countries than developed

countries



T SO T ATEE T2 U Fi9 W0 i TR 59 ) ger | TeEeie 59 0 s
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[Option ID = 2039]

Both the inward stock of FDI to developing countries and outward stock of FDI from

developing countries remained lower in developing countries than developed countries

B At i Gt = T e e T o T B 1 o T o 08 1 o e s 0 o e e e
=3

[Option ID = 2040]

Topic:- 1_PART_C_Set1

1)

Read the given passage and answer five gquestions on the basis of paszagze:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-promotion. Though same phenomenon is still relevant the
priovity of Industrialisation has heen changed. Industry helps not only for the self reliance
and reducing dependance on Foreizn Countries but it creats massive employment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in cntical domains having strategic
importance. The recognised startups has been Increased firom 726 in FY 2016-17 to 65.861 in
FY2021-22, The Startups spread across G40 districts and ereated jobs more then 7 lakhs.
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb. 2022, the mimstry of commerce and mmdustry has allocated Rs, 2,791.29 erore to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Hs. 8,785 crore have been invested by supported AlFs in 374 startups and Rs. 945 crove
has heen allocated under the scheme for a period of four years starting from 2021-22 to fund
the startups for proof of concept. profotype. trails of products. entry of market and
commercialization. However, 1t 1s important for sustaining these startups for long term
development and for création of employment. Continued investment in this sectors, export
promotion and startups products. innovation in new sectors and creation of domestic
demands for this products are important for long term developmient and attracting new
startups.



qEA WO {gA™E TEEHE ASAT § YR W Eesl S9H % 3579 ° 390 R e W e WE g
w1 2| S 3 OEEE AW B AT US AW TSR R WA o T off| =i s ghemm,
Tl FH FG E GioF TOH GV A4 T G 59 B USSR S HRE # HEE
2014 H TEET AT T A SHA 0 TN U D02 ST R AEeyol IR e 5§ S5
TR 2| I =R A 99 2016-17F 726 9 fEd 2021-22 7 65861 35 3 71 ¥ w=Ea
640 e B ¥e7 7 37 7 B AioE T gian TR F| T =R B A °, A0 SiET va A g
% T, FEAT T I ATRAE SSEEE ST ATgEE TR v st v o ) e § e
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TEHY FEAE] AU HFAN W AN UH g4 3eA1G1 whi TEaSi HI 1 HE ST S U e SR

What 1= the prioritized objective of industrialization in terms of startups initiatives?

werd s AT o w6 s s

[Question ID = 511][Question Description = 196_01_Economics_0CT22_Q96]

1.

2.

3.

4.

Self rehance

o

o

[Option ID = 2041]
Employment opportunities

[Option ID = 2042]
Both zelf reliance and employment opportunities

[Option ID = 2043]
Export reduction

[Option ID = 2044]



2)

Read the given passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-promotion. Though same phenomenon is still relevant the
priority of Industrialisation has been changed. Industry helps not only for the self reliance
and reducing dependance on Foreign Countries but it creats massive employment for a
populated country like India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in eritical domains having strategic
mmportance. The recognised startups has been inereased from 726 in FY 2016-17 to 65,861 1in
FY2021-22, The Startups spread across 640 districts and ecreated jobs more then 7 lakhs
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intelligence. robotics and technology of banking & finance In across 56 sectors. As
on Feb. 2022, the nmuimstry of commerce and industry has allocated Rs. 2,791.29 crove to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Rs. 8.785 crore have been invested by supported ATFs in 574 startups and Rs. 945 crore
has been allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototvpe. trails of products. entry of market and
commercialization. However, 1t 1s important for sustaining these startups for long term
development and for creation of employvment. Continued investment in this sectors, export
promotion and startups products. innovation In new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.

CTE 8wl e e =t o e B 0l 1 b e ol e e e e e ol et
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Which of the following is true in case of startups in India

g T AT F R B A eiEs i § R A EE Y

[Question ID = 512][Question Description = 197_01_Economics_0CT22_Q97]

1.

2.

The startups increased by 7.25% during 2016-17 and 2021-22
2016-17 9 2021-22 % %A 2™ 7.25% ¥ I 78 &

[Option ID = 2045]
The sectoral growth of startups 1s taken place by 56%

TR F BFEn-Tig 56% H 5 7

[Option ID = 2046]



3.

4.

3)

The startups have developed in important sectors like agriculture. tourism and

rrigation

[Option ID = 2047]

The recoznized sectors have created jobs more than 7 lakhs

[Option ID = 2048]

Read the given passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting =elf reliance India. But ai that time the priority was
for impoert substitution and export-promotion. Though same phenomenon is still relevant the
priorvity of Industrialisation has been changed. Industry helps not only for the self reliance
and reducing dependance on Forelgn Countries but it creats massive employvment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and 1infact indusiries im crtical domains having strategic
importance. The recognised startups has been Increased fiom 726 in FY 2016-17 to 65.861 in
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs.
These startups have been recently developed in new domain and sectors of strategic
mmportance including development of IT services, hardware technology, software enterprises,
artificial intelligence. robotics and technology of banking & finance In across 56 sectors. As
on Feb. 2022, the mimstry of commerce and industry has allocated Rs. 2,791.29 crove to
SIDBI which inturn committed Rs. 6.795 crore to 52 alternative investment funds (AIFs)
while Rs. 8,785 crore have been invested by supported ATFs in 574 startups and Rs. 945 crorve
has been allocated under the scheme for a period of four yvears starting from 2021-22 to fund
the startups for proof of concept. prototype. trails of products. entry of market and
commercialization. However: 1t 1s important for sustaining these startups for long term
development and for creation of employment. Continued investment in this sectors. export
promotion and startups produets. innovatlon in new =ectors and creation of domestic
demands for this products are important for long term developmient and attracting new
startups.

qWA TEE G TEadE A A Yva W el 9H B SE9d @ 3Er R fawm W fEem owm o
W R S 3 EEE A W WEATE S AR TR R WA 4 e off| 3t e ghemm,
F FH FAA = Aleh THEH ATH A4 FAGEN AW 9 # U U I R 7| RIeHY W W REEs
2014 T T TFAT T /T SEA A0 FEEE UH DE-D I R Geeayn I FiaE w85 55
TR 2| TEATE 2R FE 99 2016-17F 726 9 AT 2021-22 7% 65861 95 7= 21 ¥ =
640 51t & o1 7 7 7o B A9 TR giE A | T =R we A 5, 90 Sif6T va ey gare
% T, FIEAT M w1 HAA SHEarl FE A1 TEieEE v S vE @ i § 6
56 A1 H TNHE W WEIGE TR @i HF2 H a7 T E 32 2022 %A ® A va san
AT THAATEE AT 1 . 2791.29 FAs 1 FEed (HA1 7 T9Eg 9 %, 6795 Frs 82 dFicash a9
Al (veETEeE) F 5. 8725 FAE 574 WRAT F TEEF UAETH § HE9 U4 ArEE HOEI,
FIeIETEd, IO T A, AW H G v e % o e ey 2021-22 F W w5 9w &
T 39 A0 o e I A R HE % e 5, 045 TS R Wi STt $ e B | 59 39 AT
AT FETE TF S WA T T G O dEvEE 7| S A9 0 s A, HEiE gads v
WA FEE] AU GE0 ° AN U9 59 3FIG1 1 S 51 G HE Aee Se UE 9 e SR AT

Which of the following sectors have not developed recently in startups



R T FF A ° FE H w9 = 96 5

[Question ID = 513][Question Description = 198_01_Economics_0CT22_Q98]

1.

2.

3.

4.

4)

IT services

1) W= 1114

[Option ID = 2049]

Eaobotics

[Option ID = 2050]

Artificial intellizence

[Option ID = 2051]

Space technology

[Option ID = 2052]

Read the given passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-promotion. Though same phenomenon is still relevant the
priovity of Industrialisation has heen changed. Industry helps not only for the self reliance
and reducing dependance on Foreizn Countries but it creats massive employment for a
populated country hke India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in crtical domains having strategic
importance. The recognised startups has been increased firom 726 in FY 2016-17 to 65.861 in
FY2021-22, The Startups spread across G40 districts and ecreated jobs more then 7 lakhs
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb. 2022, the mimistry of commerce and mdustry has allocated Rs, 2,791.29 erore to
SIDEBI which inturn committed Rs. 6.795 crore to 52 alternative investment funds (AIFs)
while Hs. 8,785 crore have been invested by supported AlFs in 374 startups and Rs. 945 crove
has heen allocated under the scheme for a period of four years starting from 2021-22 to fund
the startups for proof of concept. prototype. trails of products. entry of market and
commercialization. However. 1t 1s important for sustaining these startups for long term
development and for creation of employment. Continued mvestment in this sectors, export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term developmient and attracting new
startups.



qEA WO {gA™E TEEHE ASAT § YR W Eesl S9H % 3579 ° 390 R e W e WE g
w1 2| S 3 OEEE AW B AT US AW TSR R WA o T off| =i s ghemm,
Tl FH FG E GioF TOH GV A4 T G 59 B USSR S HRE # HEE
2014 H TEET AT T A SHA 0 TN U D02 ST R AEeyol IR e 5§ S5
TR 2| I =R A 99 2016-17F 726 9 fEd 2021-22 7 65861 35 3 71 ¥ w=Ea
640 e B ¥e7 7 37 7 B AioE T gian TR F| T =R B A °, A0 SiET va A g
% T, FEAT T I ATRAE SSEEE ST ATgEE TR v st v o ) e § e
56 91 H TGS # WHEIEE GEAT a9 B9 § @EET 7 R e 2022 waad w oA ug s
T 7 THAGSIAEE 1 5. 2791.29 TS 1 A=A N 7 TAEH H F. 6795 F0S 82 Fwieaw tHam
Hfagt (veETrea) # 5. 8725 FA8 574 WREAY F TREF TSEUT 4 a9 U arE & 0,
FIZIETET, ST T A, AW E T v e e =S ag 2021-22 5 W w5 9w &
AT AT TR WA TE TE T 9w JE9EE Bl N TF § S 9, FEm wEde
TEHY FEAE] AU HFAN W AN UH g4 3eA1G1 whi TEaSi HI 1 HE ST S U e SR

How much amount has been allocated under the scheme of startups to find new startups for
proof of concepts, prototype and trials of produets, entry of market and commercialization?

EIAA e e 0 e ot e e 1 e L B 1 e o Bl 2 | e 0
[Question ID = 514][Question Description = 199_01_Economics_0OCT22_Q99]
1. Rs.2.791.29 crore
% 2791.20 ¥

[Option ID = 2053]
2. Rs.6.795.00 crove

% 6795.00 F1=

[Option ID = 2054]

3. Rs. 045 crore

% 945.00 T
[Option ID = 2055]
4. Rs. 12.521 crorve
5. 12521 *1=

[Option ID = 2056]



5)

Read the given passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-promotion. Though same phenomenon is still relevant the
priority of Industrialisation has been changed. Industry helps not only for the self reliance
and reducing dependance on Foreign Countries but it creats massive employment for a
populated country like India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in eritical domains having strategic
mmportance. The recognised startups has been inereased from 726 in FY 2016-17 to 65,861 1in
FY2021-22, The Startups spread across 640 districts and ecreated jobs more then 7 lakhs
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intelligence. robotics and technology of banking & finance In across 56 sectors. As
on Feb. 2022, the nmuimstry of commerce and industry has allocated Rs. 2,791.29 crove to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Rs. 8.785 crore have been invested by supported ATFs in 574 startups and Rs. 945 crore
has been allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototvpe. trails of products. entry of market and
commercialization. However, 1t 1s important for sustaining these startups for long term
development and for creation of employvment. Continued investment in this sectors, export
promotion and startups products. innovation In new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.

CTE 8wl e e =t o e B 0l 1 b e ol e e e e e ol et

A BOER (gAE YegdE GEAT 0 96 W Eesl S9H b 3599 H 3EU R (= W e WE g
W R S 39 EEE 9EE W AT TS (EW TR R w4 e off) 3t s giemm,
MTWWHWE{HTTT&&WWTIWWWE T 9 Fg EEdl U eI 9
T FH FAA R Aieh THE NG WA HAEEN A 9 # OURE TS 369 R 7| TeET WEE W R
2014 H TEEY THAT T4 F 3HE A0 TEEE UH DE-91i2 39 6 Hr.rcl-gvl T AFAT FEF 50§
T TR 7| TEATIA =R &9 99 2016-17F 726 9 T 2021-22 7% 65861 I 7F 71 T w=EIH
640 51t © el 7 R 7 =g B A9 TR g 64 2| 9 =R 7 2 9, 9 Sif6d vE e gare
= T, FEAE TR R AR SEEE HE AT TEEEE T A U A ] e § 6
56 A1 H INHE W WEIEE HET Al el H R A T 7 3e 2022 Wl H oA ve s
THe § UHHATEEIEEE i 5. 2791.29 A3 W dAEed A 7 d ° %, 6795 TS 82 dhiea® {Haw
Hf‘im(”ﬂ?ﬂmj?ﬂ? 8725 FIE 574 =R F TEEF TAEUH T FE9 U9 ASET FOTEI,
FIEIEIET, FEATT T A, AW H G 0 e e 2EA Ay 2021-22 9 W w1 ae &
o0 39 g o wdE 9w T R FEg % T F, 945 S0S F TiE SEed 1 S 7| 39 59 SRS 6
Tl AR T W TEH T T g 1 HA=G7=EH Bl 3 O9E 6 A9 e, FEE @Ea vy
e e I e e I i e - e T oM 2 M == e e e M B 1 e 0 = 2 e B 1 R e

Which of the following measures 1s required for sustaining startups?

AT SR TEA 2 FEEnEd § 3 FE 9 39 A A 7

[Question ID = 515][Question Description = 200_01_Economics_0CT22_Q100]

1.

2.

Attracting FDI startups

TESIE WA ARG wAl
[Option ID = 2057]
Tax holidays on startups

[Option ID = 2058]



3. Creation of domestic demands for startups

AN F T TR A0 w5 g we
[Option ID = 2059]

4. Encouraging startups in defence sectors

18] BH H w2251 1 TIeEiET HA

[Option ID = 2060]
Topic:- 12_GP_SH2_Set1_A

1)
The following table shows the percentaze (%) distrihution of total population. literate males
and literate females 1n six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1s 8:7. Based on the data in the table.
answer the questions 1-5:

Oitv-wise Distribution of Population

Gty (“s) Population | (%) Literate Males | (%) Literate Females
(out of 1.5 crore) {out of 40 lakh) (out of 25 lakh)
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
ol 10% 15% 10%

Tetertaa wiferm | @7 o A-F ° Fe SeEe, WA TR AT wA [ w6 e wieer (%) 5o
40 =NF W 25 WNE 7| Fel AAEEAT § G S0 EE 5 59 §:7 7| afierhl B e SEn W0 -
E%Wfﬁ‘rﬂ:

(%) s | (%) =vew o | (%) = e

T s et | et | esaedd)
A 16% 18% 24%
B 13% 12% 18%
C 21% 20% 129%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%:

The illiterate population of City A s

T A i AT e Tl 27

[Question ID = 566][Question Description = 101_00_General_23_SEPT22_Q01]



2)

10.8 1akh
10.8 =g
[Option ID = 2261]
14.2 lakh
14.2 =ma

[Option ID = 2262]
16.8 lakh

16.8 ==

[Option ID = 2263]
15 lakh

18 =™

[Option ID = 2264]

The following table shows the percentage (%) diztribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 3:7. Based on the data in the table.
answer the gquestions 1-3:

Ortv-wise Distribution of Population

(%) Population

(%) Literate Males

(%) Literate Females

e (ouf of 1.5 crore) {out of 40 lakh) (out of 25 lakh)
A 16% 18% 24%
B 18% 2% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
£ 10% 15% 10%




FrAeifiga difer @ @E 9 A-F B e SeeieE, A Il i 5T w6 e wieed (%) g9
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
Eiﬁwﬁﬁ?m:

(%) s | (%) e o | (%) = e

T s iD) | (oera 3D | sared )
A 16% 18% 24%
B 13% 12% 13%
C 21% 20% 12%
D 15% 16% 16%
E I0% 19% 20%
F 10% 15% 10%

Number of Iiterate males of City E as a percentage of number of literate females of city F 1

s B =aw I 5 @ o F oo wea e o dem e aieem 2 o

[Question ID = 567][Question Description = 102_00_General_23_SEPT22_Q02]

1 240%
[Option ID = 2265]
2 118%

[Option ID = 2266]
3. 304%

[Option ID = 2267]

4. 32.89%
[Option ID = 2268]

3)
The following table shows the percentage (%) diztrihution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 3:7. Based on the data in the table.
answer the questions 1-3:

Ortv-wise Distribution of Population

= (%) Population | (%) Literate Males | (%) Literate Females
= (ouf of 1.5 crore) {out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

c 1% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

F 10% 15% 10%




FrAeifiga difer @ @E 9 A-F B e SeeieE, A Il i 5T w6 e wieed (%) g9
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
Eiﬁwﬁﬁ?m:

(%) s | (%) e o | (%) = e
T (s | (sommmE ) | (25 A
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%
Literate population of City Eis.......cv.ueviei.. % of the populatione of E.

B ot D = T = e bt e e T = ) B e e e

[Question ID = 568][Question Description = 103_00_General_23_SEPT22_Q03]
1. 40
[Option ID = 2269]
2. B4
[Option ID = 2270]
3. 95

[Option ID = 2271]
4. 49

[Option ID = 2272]

4)
The following table shows the percentage (%) dizstribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 8:7. Based on the data in the table.
answer the guestions 1-5:

Ortv-wise Distribution of Population

.. | (%) Population | (%) Literate Males | (%) Literate Females
= (out of 1.5 crore) (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 2% 18%

(@ 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

i 10% 156% 10%




I

FrAeifiga e 0 @E 9w A-F B e SeieE, S Il i 5 w6 e g (%) 59
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
f%ﬁéﬁﬁﬂ:

(%) smEm | (%) =mem 9w | (%) mE e

T s iD) | (oera 3D | sared )
A 16% 18% 24%
B 13% 12% 13%
C 21% 20% 12%
D 15% 16% 16%
E I0% 19% 20%
F 10% 15% 10%

The difference between the illiterate population and the literate population of City C is

TR O T FAEE 3 WA S F A e S e 7

[Question ID = 569][Question Description = 104_00_General_23_SEPT22_Q04]
. 85lakh

8.H M
[Option ID = 2273]
2. 9.5]lakh

0.5 =g

[Option ID = 2274]
3. 10.5 lakh

10.5 =g

[Option ID = 2275]
4. 90.5lakh

20.5 7™

[Option ID = 2276]



5)
The following table shows the percentage (%) distribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 8:7. Based on the data in the table.
answer the questions 1-3:

Ortv-wise Distribution of Population

= (%) Population | (%) Literate Males | (%) Literate Females
o fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

C 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

B 10% 15% 10%

TrAtetga aiferm § =7 9120 A-F 0 55 S99, 9150 9591 S 0T e S e uiaEe (%) 59

T B | T 2 WA T e B SO, W T 6 S A W T R S e 1S S,
40 = 3R 25 WNE 7| FeA FAEEAT § T A0 B H S 8:7 | atflerhl ® i R W WU |-

5 % = ST
A RN 5

(%) s | (%) =new o | (%) = e

= Ly | et | (swedd)
A 16% 18% 24%
B 13% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%

Number of literate males of City D 18, .vveevivcniannns % more than the numher of literate females

of City D.
wier D 7 T Tl fi T F e D e T oAl e e aiee s a i
[Question ID = 570][Question Description = 105_00_General_23_SEPT22_Q05]
1.
160

[Option ID = 2277]
2. &p

[Option ID = 2278]
3. 61.538

[Option ID = 2279]
4. 120

[Option ID = 2280]



Topic:- 12_GP_SH2_Set1_B

1) .
Which of the following is a teacher-centred method 7

FreAleigs @ 9 =W o v Eas—saa Eme 22

[Question ID = 571][Question Description = 106_00_General_23_SEPT22_Q06]
1. Problem solvine
HEHET FHTIH

[Option ID = 2281]
2. Discussion methad

P [

TE=EHT TEE

[Option ID = 2282]
3. Imguiry approach

H_W : T

[Option ID = 2283]

4. Demonstration method.
S R
[Option ID = 2284]
2) Given below are two statements : One i=s labelled as Asseition A and the other is labelled as
Reason R.
Assertion (A):  One of the abjectives of higher education is to promote critical and creative
thinking ahilities in students.
Reasons (R) : Critical and creative thinking abilities arve developed by rote learning.
In the light of the above statements. choose the most appropriate answer from the options
ziven below :
= =1 e AU T F o wF A9HeE (Assertion (A)) F =9 9 TeiEs & A st 3F 19 (Reasons (R))
FEIT
FHEE (A) T o o T SevA Tl § AT 3 g (= S Araais] A
AT 2
= (R) AT § FATEF 9 904 24 & R 9w 2t 2

ST FUE F A0 6, 4\ T Ewen § 3 mee 30 I 9 99 S

[Question ID = 572][Question Description = 107_00_General_23_SEPT22_Q07]

. Both (A) and (R) are correct and (R) is the correct explanation of (A)



(A) #F (R) 3F1 T4 7 317 (R), (A)F1 77 == 2
[Option ID = 2285]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) =7 (R) =1 T41 =, =134 (R), (A) F1 =51 =men 73 2

[Option ID = 2286]
3. (A) iz correct but (R) 1= not correct

(A) TF 2, = (R 981 981 7
[Option ID = 2287]
4. (A) is not correct but (R) 1s correct.
(A) 771 79 2, A (R) 7T 2

[Option ID = 2288]

3)

Which of the following are common eriteria of tests?

(A)  Administrative eondition

(B)y  All questions of higher order thinking skills,
(Cy Time limit

D) Nature of questicns

(E) Marlks allocation
Choose the correct answer from the options given below :
FEietEa & B WiE F e  hes A E A

(A) e

(B) =iz =ed ®we = o e
(C) == =
(D) ol e =

(E) =% A2

a0 o faredl B | WA S 1 =9 i

[Question ID = 573][Question Description = 108_00_General_23_SEPT22_Q08]
1. A C.D Only

Fa A CHTD

[Option ID = 2289]
2. B.C.D Only

FAAB. CHTD
[Option ID = 2290]
3. B.C.DandE Only
FaaB.C.DERE

[Option ID = 2291]
4 A C.Dand E Only



1.

1.

2.

FaA A C.D AR E

[Option ID = 2292]

4)

In the context of curriculum. which of the following are correct?

(A)
(B)
(C)
(D)
(E)

Curriculum should be modified rezularly

Curriculum should have theoretical concepts only

Curriculum should be derived from constitutional imperatives of the country
Curriculum should be made as per needs of industry & society

Curriculum should be teacher-centric.

Choose the correct answer from the options ziven below :

WAl F HEd § FetEiEs 3 2 wE-wE #16 A

(A)  OrE=EEl H FEEE B @ ST S =S|

(B) TIEEEl 8 Fad ASEF TFEm #1 2E =mEn)

(C)  wrz=r=a] 1 591 1 FAaF SHEEaE @ e e e
(D) TrE=r=Al 1 FEN T HETE S AETIERAIA F SAAN S A =i
(B) o=l TEE—Fimn wEl =)

fo o =01 © T TA I W T A

[Question ID = 574][Question Description = 109_00_General_23_SEPT22_Q09]

A.D and E Only

Fa9 A, DHATE

[Option ID = 2293]

C and D Only

A= C 5 m D

[Option ID = 2294]

A Cand D Only

Faa A, C 3 D

[Option ID = 2295]

ABCandD

ABC#HID

[Option ID = 2296]

5)

What does the symbal@- siemify?

pLied @ [AeArE | | [FE5 AR 9% Faa] 2 7

[Question ID = 575][Question Description = 110_00_General_23_SEPT22_Q10]

copyrighted material

aiaferentasn s mm

[Option ID = 2297]

copvable material



[Option ID = 2298]
3. Cl‘Bﬂti.VE COMMmMons

PI" 22 [.]_r'_“_.": ﬂa—‘l_"q:g

[Option ID = 2299]
4. copyving commons

qi_’l q’[s_ il_ili;;I
[Option ID = 2300]

6 . . .
) When a research study 1= conducted to know about an unknown area and collect information.

1t 1s known as
= Tl s #9 F FEY § AR SF 09 TR A (90 TG 55 SEem e 9 2, A1 58 [
O H 9 = 0 AE A R

[Question ID = 576][Question Description = 111_00_General_23_SEPT22_Q11]
1. Pilot Study

[Option ID = 2301]
Feasihilitv study
SR AT

[Option ID = 2302]

3. Explanatory research
ST M

[Option ID = 2303]

4. Exploratory research
TEUEF I

[Option ID = 2304]

7 A true zero point is the feature of
F AEAEE 7= {K'?é, el § 3 e s = 7

[Question ID = 577][Question Description = 112_00_General_23_SEPT22_Q12]

Nominal seale

[Option ID = 2305]

2. Ratio scale

[Option ID = 2306]
3. Inferval zcale



'ER_I'ITIFTr 3 -m:

[Option ID = 2307]
4. Ovrdinal seale

[Option ID = 2308]

8) . . N : S —
Which of the following are similarity elements 1n both gqualitative and gquantitative research?
(A) Answering research guestions.
(B) Preference to macro data.

(C) Do not suffer from issues of error.
(D) Limportance to transparency.

(E) Exploration of variation.

Choose the correct answer from the options given below :
T 3T HTAEH 0 ] 9 H AEE A 2 ¢
(A) 09 U F I A
(B) T =R H A
(Cy  Fhe = wHal | W T 2
(D) "EaE % Had
(E) S F7 s=aem

T5u T e | H TRl 39 H SIS

[Question ID = 578][Question Description = 113_00_General_23_SEPT22_Q13]
1. A B. COnly

a9 A.B. C
[Option ID = 2309]
2. B.C.DOnly

#aa B. C. D

[Option ID = 2310]
3. AD.E Only

a7 A.D. E

[Option ID = 2311]
4. A B.E Only

FT9A. B, E

[Option ID = 2312]



%) Which: of the following are unethical in the context of research?

(A) Seeking informed consent of respondents.

(B) Offering incentives to respondents,

(C) Coercing respondents for sensitive personal infarmation
(D) Hiding the research purpose from respondents.

(E) Maintaining confidentiality

Choose the correct answer from the options given helow :

g % EHEH § EienEa 5 H wA FH SHEE A7

(A)  IeREETAT F TgEd #EElE T

(B)  =AEs] F WIEETE F A A

(@) SEIEAIA] # HATE AE HE % 0 g e
(D) FEEE | wh TEEA S

(E) T 591 & 1Al

o0 T Tk § T TR I R = R

[Question ID = 579][Question Description = 114_00_General_23_SEPT22_Q14]
1. A B.COnly

Fa9 A.B. C

[Option ID = 2313]
. B, C DOnly

FT5 B, C.D
[Option ID = 2314]

3. C.D.EOnly
F95 C. D, E
[Option ID = 2315]

4 A B.DOnly
Fa5 A B.D

[Option ID = 2316]

10)

Given below ave two statements :

Statement [ : Triangulation is deseribed as that of researchers taking different
perspectives in answerlng research gquestions.

Statement IT :  Trmangulation is expected to produce knowledze from different insights
to promote quality research.

In the light of the above statements. choose the most appropriate answer from the options

given below :



FUFL:  TAGSTET I T F I O H IEEAA G AT IR0 T B F AT S A
Foa I1: T @ sman 1 = 2 T <98 o ma F madh % fow it A 3 o
= =

I HUA F A H, A= 5 {EeT 0 0 HeE 39 36 S A

[Question ID = 580][Question Description = 115_00_General_23_SEPT22_Q15]

1. Both Statement I and Statement II are correct

Foq [ A0 [ 5 54 7
[Option ID = 2317]
2. PBoth Statement [ and Statement II are incorrect
Fo 1 3 I 5F1 = £
[Option ID = 2318]

3. Btatement I 15 correct but Statement II is Incorvect

Fote G T 3
F [ O71 7, o =494 [ 74 7

[Option ID = 2319]

4.  Statement I isincorrect but Statement II iz correct

FoH [ A B, S weE LA 2

[Option ID = 2320]

) Which of the following iz a semantic barrier]

=Tieiiay 3 ® FE-51 TF e e 27

[Question ID = 581][Question Description = 116_00_General_23_SEPT22_Q16]

- Blurred image on televizion

ZEMTS W GHE 9
[Option ID = 2321]

Unclear printing in newspapers

AN 99 A998 29 w0

[Option ID = 2322]
3. Btatic broadeasting

[Option ID = 2323]

4. Redundancy 1n writing

= = =
g H =Hidi]



[Option ID = 2324]

12 ik 3 T ;
) In communication, channel richness 12 highest m the casze of

HUGO H, T TR 9 8 H RS a2
[Question ID = 582][Question Description = 117_00_General_23_SEPT22_Q17]
Television
[Option ID = 2325]
Newspapers

[Option ID = 2326]

3. Face-to-face conversation

AT —HH F FEE

[Option ID = 2327]
4. Formal reports

[Option ID = 2328]

13 ) . ) . .
) Kinesics. when used. will communicate a person’s

(A) Social status

(B) Level of invelvement
(C) Emotional guotient
(D) Political mobility

(E) Language ambiguity

Choose the eorrect answer from the options given below :
SPTATITEET 1 39 (FH1 40 1 F WU

(A) =R O

(B)  =iwleE 7 =@ w1
(C) aTEeET e

(D) T A
(E) 791 s

oo v fawe © § TF 3 5 9E F

[Question ID = 583][Question Description = 118_00_General_23_SEPT22_Q18]
1. A B.COnly

F77 A B. C

[Option ID = 2329]
2. B.C.DOnly

FaAB. C.D



[Option ID = 2330]
3 D.C.E Only
Fa3 D, C. E
[Option ID = 2331]

4. A D.EOnly
#Fa9A.D. E
[Option ID = 2332]

14)
Given below arve two statements :

Statement [ :  Language and other svmbalic means of communication are surely social
products,
Statement IT :  Communication media always provide the feel-good-factor to their users

In the light of the above statements. choose the correct answer from the options given below :

:I‘IH?.T?F'«‘I‘-IT—T:UTI"Tﬁ‘

g I0:  E9e HiTS He" 94 TARRUAT B SEE - 3 -0 T i R

IV FYA F OAENE 5, T 150 0 EEem 8 8 HE I = R

[Question ID = 584][Question Description = 119_00_General_23_SEPT22_Q19]

- Both Statement T and Statement II ave true

e I3t Il aF 979 7

[Option ID = 2333]

2. Both Statement I and Statement IT are false

Fge [ 5 I =H @8 7
[Option ID = 2334]

3. Statement I is true but Statement IT 1= false
w0 2, i %29 I 38 2

[Option ID = 2335]
4. Statement I 1s false but Statement II 1s true

Tl AT R, A e L Ha 2

[Option ID = 2336]



15)
Identitv the correct sequence of the following elements 1n the mass communication process,

{A) Selective exposure

(B) Selective attention

() Cognitive dissonance
(D) Congruent information
{E} Confirmation of bias

Cheose the correet answer from the options given helow :

FA-HIT A § Feetge qodl & OE SawE i aaE-

(A) A TEEE
(B) =afa w=aH
(C) wseras =gy
(D)  FFEE =
(E) waEmE 9w

o 0 el § | HE 39 B =EA A

[Question ID = 585][Question Description = 120_00_General_23_SEPT22_Q20]
" BADCE
[Option ID = 2337]
2. AE.CBD
[Option ID = 2338]
3 C.D.E.B.A

[Option ID = 2339]
4 E.CABD

[Option ID = 2340]
16) Find the number that must be added to the terms of the ratio 13:25 to make 1t equal to 7:10,

o7 WAl T RIAU (599 13:25 % S # 7:10 % s B 6 (o1 el 2
[Question ID = 586][Question Description = 121_00_General_23_SEPT22_Q21]
1. R

[Option ID = 2341]
2. 11

[Option ID = 2342]
3. 15

[Option ID = 2343]
4. 13

[Option ID = 2344]

17)  Find the next term in the series given below

5,9, 14, 20, 27, 35, ?



= £ =i g ¥ aven 9 T i

5, 8,14, 20, 27, 35, ?

[Question ID = 587][Question Description = 122_00_General_23_SEPT22_Q22]

162
[Option ID = 2345]
270

[Option ID = 2346]
3. 44

[Option ID = 2347]
4 42

[Option ID = 2348]

18) A sum of Rs. 16800 is divided into two parts. One part 1s lent at a simple rate of interest of 6%
per annum and the other part at 8% per annum. After 2 years the total sum received is Rs.
19.000. Find the sum lent at the rate of 6% and 5% respectively.

U 16300 F I F EOAEN § AE AW 7| 95H 9T F 6% Wiaad 1 WS4 6 2 9 39F f5m
T ST GE AV F 8% WieEs H1 o W Fan @ S #1 51 = a me i i e e 19000 w991 2
T 6% T 8% 1 o1 W IUW 2] T e O3 Fhe v

[Question ID = 588][Question Description = 123_00_General_23_SEPT22_Q23]

1. 12200, 4600
[Option ID = 2349]

2. 11000, 5800

[Option ID = 2350]
3. 12000, 4800

[Option ID = 2351]
4. 4800. 12000

[Option ID = 2352]

19 In a certain coding scheme, 'UNIVERSITY is coded as ‘EIINRSTUVY', How INSTITUTION
shall be coded in the same coding scheme?

fFeft 5= F2 91 8 UNIVERSITY #1 ‘EIINRSTUVY + =9 § 2 =g 31 701 2| = ovm 52
7T 9 INSTITUTION T8 W1 F2ag 5 o ?
[Question ID = 589][Question Description = 124_00_General_23_SEPT22_Q24]
1. IIINNOSTTTU
[Option ID = 2353]
2. IININOSUTTT
[Option ID = 2354]
3. INIINOSTUTT

[Option ID = 2355]
4. IINNIOSTTTU

[Option ID = 2356]

20) The average welght of 30 persons 1s inereased by 2 ke, when one of them whose weight 1s 40
kg. 1= replaced by a new perzon. What is the weight of the new person?



30 = F oftEm 79E § 2 fEn. #1 9f 76 R, S99 @ v e 999 40 TEn. ® ) R e
= A UHETYT T 15F A 2| 0 S5 6 ge ;R

[Question ID = 590][Question Description = 125_00_General_23_SEPT22_Q25]

1. 98 kg

08 T
[Option ID = 2357]

2. 100 kg

100 e
[Option ID = 2358]
3. 102 kg
102 T
[Option ID = 2359]
4 o5kg
95 TFame

[Option ID = 2360]

21 . z P i .
) Which of the following propostition 1s contrary to the proposition “All women are honest™

FefieiiEs F-o1 ahaed | H@Hl JEe0 SHFAR 7 aFaEd & duih 27
[Question ID = 591][Question Description = 126_00_General_23_SEPT22_Q26]
Some women are not honest,

[Option ID = 2361]
2. Mo women are honest.

[Option ID = 2362]
3. Bome women are not dishonest,

F5 RS TSAE TA A A

[Option ID = 2363]
4. Nowomen are dishonest.

[Option ID = 2364]



22)
Which of the following forms of categorical propostitions is valid?
(A) Some Sisnot P
(B) Some S1= P
{C) NoSisP
(D) AllSisP

Choose the correct answer from the options given below :

"= 4 3 & TP £ 0 e s SO £ 3.
FIIE] TRt gl = FErgEn ThEl § T=had Jiadn- 921 77

(A) FBSPTHI
B) FTSPF

(C)y FEdSPAHE
D) =fisPE

fom T fae B @ HA S W R

[Question ID = 592][Question Description = 127_00_General_23_SEPT22_Q27]
1 A BandC Only

Fae A. B3 C
[Option ID = 2365]
2. B.CandD Only
g B, C #:r D
[Option ID = 2366]
3. A CandD Only
FaTA CHF D

[Option ID = 2367]
4 ABCD

AB.C.D

[Option ID = 2368]

23 .
‘ Which informal logical fallacy is committed in the following argument — 'No one has shown

that aliens did not create the crop circles. So the crop civcles must have been made by the
aliens?

FefeEs 76 § FH-T SFECE o 2 B-  FE 9 98 mEEE AR 2 T v (vfewe) 3 e
AT T T 2| T TEA AR AT T W WIEAET (U ) g s T A

[Question ID = 593][Question Description = 128_00_General_23_SEPT22_Q28]

. Begging the question

[Option ID = 2369]
2. Appeal to Ignorance

[Option ID = 2370]



3. Fallacy of accident

U =T

[Option ID = 2371]
4. Appeal to authority

[Option ID = 2372]

24) .
zaven below are two statementis :

Statement I :  Amstotehan syllogism has three terms.

Statement 11 :  Nyaya syllogism has five terms.

In the hight of the above statements. choose the most appropriate answer from the options

given below :
4= 71w o E

FA [ AT A A A

e [ SR =EaEs | 9 U 5 A

I FYH AT H, A S0 T e 5 H HeE IUg S0 S A i

[Question ID = 594][Question Description = 129_00_General_23_SEPT22_Q29]

- Both Statement I and Statement IT ave correct

o I 5 I =@l &1 2
[Option ID = 2373]
2. -Both Statement I and Statement I are incorrect

[Option ID = 2374]

3 Statement [ 1= correct but Statement I is incorrect

Fom 1971 2, = Fa [L7es 7
[Option ID = 2375]

4. Statement I1s incorrect but Statement IT 1s correct

9= [T £, @ 94 I as 2

[Option ID = 2376]



25) . I - .
The proposition- ‘all things are non-eternal. because they are knowable’ 1s fallacious hecause

AT T S T-vNEE 7, AR G TR g # i -

[Question ID = 595][Question Description = 130_00_General_23_SEPT22_Q30]

- The middle term is non-exclusive.

T UE -5 2|
[Option ID = 2377]
2. The middle term is too narrow.
ey uE Ad wHM 2|
[Option ID = 2378]
The middle term 1= too wide
[Option ID = 2379]
4. Tt involves a contradictory middle term.
7z v faufimeds geaus = afgfew %200 2

[Option ID = 2380]
26) A destructive computer program that masquerades as a useful application is called

vx TaeEh o Wi F a3 # 991 e WAl 7 A U I SE e @ = i E

[Question ID = 596][Question Description = 131_00_General_23_SEPT22_Q31]
T Virus
=HETH

[Option ID = 2381]
Worm

=
[Option ID = 2382]

3. Trojan

[Option ID = 2383]
4. Firmware
%
TwH T4

[Option ID = 2384]



27) Given below are two statements ;
Statement I : The concept of cvber technology 1z descmbed as a wide range of

networked communication devices.

Statement II :  DMany sociologigts are concerned with people hecoming too dependent on

technology.

In the light of the above statements. choose the correct answer from the options eiven below :

~

e FaT R E

FoA ;A RN i OFEE W AW I F AeaF i UF S 09 F 'Y g e A
-
T [1: = J9T9 9 S0 % TR W T [ 7 S e a2

ITIF FUA F A0F °, 9 B o e § 9 w8 3 = e

[Question ID = 597][Question Description = 132_00_General_23_SEPT22_Q32]

1. Both Statement I and Statement II are true

[Option ID = 2385]
2. Both Statement I and Statement Il are false

w14 I 51 e 2
[Option ID = 2386]
3. Statement I is true but Statement IT 1= false
Fom 1 aea 7, =% w49 1 95 7

[Option ID = 2387]

4. Btatement I 1s false but Stateiment IT is true

Fyq [ =909 2, =1 F29 ToeT 2

[Option ID = 2388]

28)  The Microsoft Office Powerpoint. there are two types of slide orientation that are supported.

What are these orlentation types?

TTSHTATT?. ST TTaTTEs 3, o TR T5E A OEET A T STataee R S H Y

[Question ID = 598][Question Description = 133_00_General_23_SEPT22_Q33]

1. Portrait and Landscape

- 7



[Option ID = 2389]

2. Upright and Landscape
[Option ID = 2390]
3.

Portrait and Facedown

[Option ID = 2391]
4. Landscape and Facedown

[Option ID = 2392]

29) Consider the worlssheet helow:
A B C|D|E|F
1 | Data | Result
2]-4
3
4
If & uzer wants to do the following:
(1) Print “Within Budget” in cell B3 if the value 1n cell A2 1s less than or equal to 100.
(it) Print “Over Budget™ 1n cell B3 if the value in cell A2 is greater than 100: then what
formula would the user have to tvpe in order to achieve the above stated zoals?
A B C|D|E|F
1 | =rer | g
2|4
3
4

[ N:F N B | Bl By o
Iie Tz TR GG A Fledl 7
(1) afz F1Ee® A2 7 99 100 & F9 94y s30T 2, 91 ®gF B3 § T T aa

(ii) =z F1eF A2 1 99 100 § wAfoF 2, 71 #0F B3 8 2 “dm 7w, 91 I weA # WH e
% ToI0 TR F A A1 G 2T FAT B

[Question ID = 599][Question Description = 134_00_General_23_SEPT22_Q34]
1. =IF (A2<=100. "Within Budget”. "Over Budget”)

=% wF (A2<100. Tl g, =)
[Option ID = 2393]
2. =IF (A2-=100, "Over Budget”. “"Within Budzet™)

2

=3 TF (A2-=100, " ww, EfEE= )

[Option ID = 2394]
3. =IF (A2<=100, “Over Budget”, “Within Budget™)

=1 UF (A2<=100, “#HF g2, A )



[Option ID = 2395]
4. =IF (A2<=100. “Within Budget”, “Over Budget”)

= a1 F (A2<=100. At w7z, “wEr amz)
[Option ID = 2396]

30)
To receive email. you need an email provider. a connection to yvour provider and an email
application. If your Internet Sevice Provider (ISP) has a POP sever. vou have a wide cholce of
emall applications.

What does the acronym POP stand for?
T He WH O O SR S Hel YR, A9 WEET R Og TR FAEE 3T TF § HeT Urerhe
AETTRAT 2| Al AT SE2 Hay Ugidl (#E uE ) % e i gEr # a9 S0 O 56 Uherhee
THam T A O = = E

[Question ID = 600][Question Description = 135_00_General_23_SEPT22_Q35]

1 Page Overlay Protocol

[Option ID = 2397]
2. Post Office Protocol

[Option ID = 2398]

3. Power Outage Protocol

TR TS TR

[Option ID = 2399]
4. Poztal off Protocol

[Option ID = 2400]

31)

Given below are two statements :

Statement I :  Bioconecentration in humans can oceur due to consumption of fizh.

Statement 11T :  Bioconcentration 1s the tendency of hazardous substances to accumulate

in human tissues

In the hight of the above statements, choose the correct answer from the options @iven below :



o= 2 F9 B o E

F2A I TS ° Hoel %S9  FE0 A9-Awg0 7 Fhal
T [1:  FI-TT50 ARRE T0141 1 0FE 5o § UEEE 5 0 A

I FUH F AR °, A= 150 M0 S § 9 5 I 6 =0T S

[Question ID = 601][Question Description = 136_00_General_23_SEPT22_Q36]
. Both Statement I and Statement IT are true
o9 [ #0 o 99 7

[Option ID = 2401]
2. Both Statement I and Statement II are false

[Option ID = 2402]
3. Statement Iis true but Statement II is false

F4T [ 979 2, T F99 11 35 7

[Option ID = 2403]

4. Statement I is false but Statement II is true

[Option ID = 2404]

) Given below are two statements ; One is labelled as Assertion A and the other iz labelled as
Reason R,
Assertion (4):  Large scale dams also cause the Green House Gas emiszions.
Reasons (R) : When subinerged vegetation decays. 1t produces carbon dioxide which 1s a

sreen house gas.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

A T U B0 F U AT9He (Assertion (A)) % #9 § fWfEd & Al o 9% F (Reasons (R))

FEGH :
ARTEE (A) TauTer =g 0T 20 Tl & SeasH & 9 0 7 o B
F77 (R) o A A a9eia @ &9 e 2 A" FeE SR wEEEs 5ed 7l 2 o R o

Arer= 1 7|

I FUE F ATEE W, 99 5o T EEe § | 69 I o 99 S




[Question ID = 602][Question Description = 137_00_General_23_SEPT22_Q37]

1.

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) =0 (R) =1 531 & 31 (R), (A) =1 771 =me 2

[Option ID = 2405]

2. Both (A) and (R) are true but (R) 15 NOT the correct explanation of (&)

(A) 57 (R) TF1 581 & w4 (R), (A) =1 78 =men 99 2

[Option ID = 2406]

3. (A) iz true but (B) is not false

(A) T 2 =il (R) 91 9471 2

[Option ID = 2407]

4. (A) is not false but (R) 1= trae

(A)=A 2 &% (R) 791 2

[Option ID = 2408]

33)

Wind energy

{A)
(B)
(C)
Dy
(E)

13 an intermitient energy

15 extremely useful at remote and 1solated places
does not depend upen weather

is a clean energy

does not have any enviornmental impact at all

Choose the most appropriate answer from the options given below :

Tae Al

(A)  TF S 7

(B) T4 57 UETR TFl 8 A I A
(C)  Hrg o [ 95w B

(D) UF == = A

(E) = wiEia wae faeme 75 2)

fau T el § | TR I W =99 AT

[Question ID = 603][Question Description = 138_00_General_23_SEPT22_Q38]
. ABC Only

Fa5 A. B, C

[Option ID = 2409]
2. A B.D Only

Fa= A B. D

[Option ID = 2410]



3. B.C.D Only

Fa5 B, C.D
[Option ID = 2411]

4 C.D.EOnly
A 0. D, E

[Option ID = 2412]

34) Indian National Ambient A Quality standards stipulate the maxumum permissible limit of

annual mean concentration of PM=s to be

T TS i A E T AT 00 T S0 9SSR o AaEan S H A
[Question ID = 604][Question Description = 139_00_General_23_SEPT22_Q39]
G0 pg/m3

[Option ID = 2413]
2. 45 pg/m?

[Option ID = 2414]
3. 40 pg/m?

[Option ID = 2415]

4 95 pg/md

[Option ID = 2416]

35 : : §
) Which of the following are sustainable Development Goals (SDGs)?

(A) No poverty

(B) Zero hunger

(C) Employment to evervone
(D) Quality education

(E) Gender equality

Choose the correct answer from the options given below :

e & o od o = (mmE ) se A E7
(Ay A=A = mETE

(B) w@dgHE

(C) = [0 AT

(D)  ToEET E

(E) T (=) =

o0 70 9% § | HE 3 W =994 i

[Question ID = 605][Question Description = 140_00_General_23_SEPT22_Q40]
1. A B, COnly

a9 A. B. C

[Option ID = 2417]



2. A B.C.DOunly

Fa9 A B.C.D
[Option ID = 2418]

3. A B.D EOnly

Fa7A. B. D, E
[Option ID = 2419]
4 (€. D.EOnly
Fa= C.D.E

[Option ID = 2420]

36) Previous National Education Policy on Education-1936 was modified in the year:

ToreaT W7 T9el TEE [T Al - 1986 = ThE g6 T Henian o a and

[Question ID = 606][Question Description = 141_00_General_23_SEPT22_Q41]
1. 1980
[Option ID = 2421]
2. 1992
[Option ID = 2422]
3 1987
[Option ID = 2423]
41996

[Option ID = 2424]

37 The most mmportant fallout of university reforms under whose leadership. was the first

official announcement of the future education policy of the Government of India to reduce the
tension created among the educated Indians by the process of his unmversity reforms?

Fetleias § @ aE 9909 o S0 el Gan Wi Sy 9hers s §eEE ) aE
Tove it =1 wem R g @, o er 3o favatrmes gan | e 1 foiee gwdE 9

SFURT 50 AT T S AT

[Question ID = 607][Question Description = 142_00_General_23_SEPT22_Q42]
1. Charles Wood

[Option ID = 2425]
2. Hunter

=

[Option ID = 2426]

3. Curzon
= I
[Option ID = 2427]
4. Dalhousie

3 e
=T

[Option ID = 2428]



38 : ; ; ik : ; -
) Which of the following umiversities have been recogniged as Institutes of Eminence?

(A) Banaras Hindu University

(B) Amrita Vishwa Vidva Peetham
() Caleutta University

(D) Cental University of Hyderabad
(E) Jawaharlal Nehru University

Choose the most appropritae answer from the options given below ;

friferlian @ % T avalaen=al #1 zope 9eaE =9 5 qra 5 2

(&) =E T FvaieTeE
(B) A ETEETEE

(T Tl vl

=+ | ] < 3
(D) #Ze gHaEEd ATE 75

{E) TR A2 [AvaaETE

Tou T ol § | TR S T = R

[Question ID = 608][Question Description = 143_00_General_23_SEPT22_Q43]
" A Band EOnly

a9 A, BARE
[Option ID = 2429]
2. A BandD Only

FAFA BHER D

[Option ID = 2430]
3. C,DandE Only

Faa C. D 3T E

[Option ID = 2431]
4. A B, CandD Only

F=AA B.CaR D
[Option ID = 2432]

39 . : - ; : :
) Which of the following recognised for the fivst time that the government should zive ‘frank

and cordial support’ to female education and take effective measures for its expansion?

FeiaEa § O (50 T2 97 95 9F A1 = 9vRT R Al G F P92 UE AeE a9 51 91

[Question ID = 609][Question Description = 144_00_General_23_SEPT22_Q44]

. Women's Indian Association

[Option ID = 2433]



2. AY India Women's Conference

[Option ID = 2434]
3. The Woods Despatch

8 = T=orT

[Option ID = 2435]
4. National Council of Women

[Option ID = 2436]

40 : ] ; e i 1 . fiks
) The Acts of incorporation passed 1n 1857 provided for the estabhshment of Universities of

Calcutta. Bombay and Madras on the model of:

1857 © wifg TomEeE AAtaEn O e Bvatsmem % uiaes W smaia FeEe, 592 90 T F

Teoatarmer =Rl =T T WA e T A
[Question ID = 610][Question Description = 145_00_General_23_SEPT22_Q45]
. Cambridge University
:.Jﬁ- -E i"'-l'_n

[Option ID = 2437]

z. University of Harvard
JEiad AF FEE
[Option ID = 2438]
3.

Oxford University
o - ! _r' 1-_.;

[Option ID = 2439]
4.  Universitv of London

- r F T e
E 4_1 L=
[Option ID = 2440]

Topic:- 12_GP_SH2_Set1_C



1)

Read the passage and answer guestlons from questions 46 to 50

There i1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz reflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
lLibertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves. It is a fact that individuals malke often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete zelf-contral, Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The movement of libertarian paternalism is unattractive as it is a combination of
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[Question ID = 611][Question Description = 146_00_General_23_SEPT22_Q46]

1.

2.

3.

Commean senge concepts

[Option ID = 2441]
Dogmatic concepts

[Option ID = 2442]

Contradictory concepts



4.

2)

[Option ID = 2443]

Popular culture and politics

[Option ID = 2444]

Read the passage and answer guestlons from guestions 46 to 50

There 1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepis seem to be contradictory. If the terms are
properly understood. both concepiz rveflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they Dhike. If 1z also to opt out of undesirable amrangements. if they want to do so. The
libertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It i1s to make people's
lLives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer peoples choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves, It is a fact that individuals malke often pretty bad decisions, These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking

bad decisions.
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The lihertarian strategy insists that people should opt for
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[Question ID = 612][Question Description = 147_00_General_23_SEPT22_Q47]

1.

2.

Freedom of cholce
=T T TRl

[Option ID = 2445]
Paternalistic support



e T

[Option ID = 2446]

Even undesirable arrangements
oA AT o

[Option ID = 2447]

4. Moaodification of then freedom

T T B A

[Option ID = 2448]

3)

Read the passage and answer guestions from questions 46 to 50

There is-a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotvpes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz rveflect commion sense. They are far more atfractive
together than alone. According to the hibertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
libertarian paternalists urge that people should be free 1o choose. Policies are desizned to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hves, A policy 1=
paternalistic. if it tries to influence choices that make choosers better off. as judged by people
themselves. It 1s a fact that individuals make often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete =zelf-control, Libertarian paternalism. however. 1= a relatively
weak. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The libertarman paternahsts seek policies aimed to



[Question ID = 613][Question Description = 148_00_General_23_SEPT22_Q48]

1.

4.

4)

Change the people’s preferences,

=T EaEE § A

[Option ID = 2449]
Preserve the People’s iberty of choice

[Option ID = 2450]
Burden the people with choiees.

M W =T F e w A S

[Option ID = 2451]
Make the people's cholces legitiniate.

T F =9 A9 A

[Option ID = 2452]

Read the passage and answer guestions from gquestions 46 to 50:

There is a new movement called libertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepis seem to be contradictory. If the terms are
properly understood. both concepiz rveflect common sense. They are far more atiractive
together than alone. According to the libertarian strategyv. people should be free to do what
they like. It 1z also to opt out of undesirable arrangements. if they want to do zo. The
libertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It i1s to make people's
lLives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer peoples choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves, It is a fact that individuals malke often pretty bad decisions, These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The government and private institutions should make efforts to

[Question ID = 614][Question Description = 149_00_General_23_SEPT22_Q49]

1.

2.

3.

4.

Prevent people from talong bad decisions
FT S BE w4 H T
[Option ID = 2453]
Allow people to go thelr own way
[Option ID = 2454]
Make people judge themselves
ST 1 A A0 H = T A oA
[Option ID = 2455]
Steer people’s choices for improving their lives,

[Option ID = 2456]



5)

Read the passage and answer guestlons from questions 46 to 50

There i1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz reflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
lLibertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves. It is a fact that individuals malke often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete zelf-contral, Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The focus of the passage 1z on
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[Question ID = 615][Question Description = 150_00_General_23_SEPT22_Q50]

1.

3.

The oppesition to libertarian paternalism
g MgETEE w1 e

[Option ID = 2457]
The unlimited cognitive abilities of individuals.

T I ST S AR

[Option ID = 2458]
The freedom of cholees for a better society,

[Option ID = 2459]



4 The need to ignore the defects of libertarian paternalism.
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[Option ID = 2460]






